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s e o Tufive iy frem g

Janata Bank Lid. AEO (Teller) - 07.02.2020
o “gferm o o wrew-08”

Hungladesh Bank Officer (General) - 24.00,.2020
o E el e A

Janata Bank Lid. (AECY) - 10.00.2020

o wdtnfim oS i TRfre o wfis \

Rupah Bank Lud. (50) - 03.01.2020
o Smwy ACDER-a1 WS Ao ceridy penee
Banglodesh Bank OfMicer (General) - 25052018
o i e g e GRS SR oo OET T 50
affram T = |
Sonmali Bank Lid, Officer (Written) - 20,048,201 8
« Tafem monom e B e sofb o wt
Bangladesh Krishi Boank Lid. Data Entry Ope
«  wE SoMSICR W e o
Karmasangstan Bank Ltd, Data En
o el P st
Rupali Bank Lud. Officer

I |

i, Semior Officer (Wnitten) — 19,00 2015

i Srtele wwdifes wremn Fapm sl

Indesh Bank Assistant Director {General Side) (Wrinen) — 2017

‘rite an essay on “ETEN wm g afve afefou”
Bangladesh Howse Building Finance Comporation (S0) Wittes — 10,11.2007

o o et S0 R NI S RIERR e R o o it R ool e B
Jonata Bank Ltd. Assistant Executive Officer (RC) Written - 22.09.2017

o i adnogs TETs i Wi e e aul e
Rayshahi Krishi Unnayan Bank Ll Officer (Wnitten) — 15.08.2017

o Ceffara fnion g - TenOTCeR e o T I coo wov W <D e frge

Agrani Bank Lud. Senior Officer (Written) = 14.07.2017

o “303) WOTE WOW WHE GO WERT St DonoieT sToveene” PTEETe age v oo g
T WA |
Sonali Bank Lad. Officer (IT) - 23.12.2016
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s “WEETER P - Sum o v aen fre
Janata Bank Lid. Senior Officer (1T) - 29,01 2016
o oG TiTeE AW
Karmashongsthan Bank Ltd Test for Officer (Cash) — 14082015
o i S e R fo e ow i wen e
Rajshnhi Krishi Unnoyon Bank Test for Senior Officer - 22,11,2014
o 'O TR TR TR 5T @ e aem <3 e
Rajshahi Krishi Unnoyon Bank Test for Officer — 22.11.2014
o T BEE W T AT Ao B s g
Investment Corporntion of Bangladesh Test for Senior Officer - 2014

English Essay:

o Automation Lmpact of Bangladesh,
Junaia Bank Lid. AEQ (Teller) - 07022020

«  Haole Banking In rural development \
Janata Bank Lid (AEQ) - 10.01.2020
#  Justice lor stateless e
Bangladesh Bank OfMcer (General) - 24.01 2020 Q
#  Finteeh services in Bangladesh: benelits and challeng
Rupali Bank Lid. (S0O) - 03.00.2020

# A Quest for Peace in the Middle-Easit: Recegt Pegsp % *
Hangladesh Bank Officer (General) - 25.05.208

*  Wrile an essay in English on “Youtquaky

*  Write an essay in English on “Thgf"y {
Rupali Bank Ltd, Officer — Casld(Wiicg® 30.03.2018
& Write an essay in English i IV @ successTul life™.
Agrani Bank Ltd. OfT asf (Writien) - 2000012018
= Wrile an esuuy on ﬂ%ﬁ:ﬂﬂﬁ A solution for the foture Dhaka™,
¢ Buil Finance Corporation (50) Written - 10112017
g The Rule of Opposition in a Bemocracy™ in not more than 500 words,
Senior Officer (Written) - 14,07,2017
v oon “The issue of Good Governance in the banking sector of Bangladesh™ in
an 500 words,
pcdesh Krishi Bank Lid, Sepior Oificer - 20.01.2017
you think establishing the special economie Zones will help Increase private sector
investment in Bangladesh? Discoss,
Bangladesh Bank (Writien) AD - 17.02.2017.
= Write an essay on “*How (o Confront Cvber Crimes in Financial Sector™ in 250 words,
Somali Bank Lid, Officer (IT) - 23.12.2016
= [scuss the role of BSCIC in the development of entreprencurship in Bangladesh,
Bangladesh Development Bank Lid. Officer (Cash) - 15.01 2016
«  “Winter Tax Fair 20157
Rajahahi Krishi Unnayan Bank for Senior Officer (15t Cluss) Written - 15.12.2015

s [iscuss the role of forcign remittance inflow on the socle-cconomic development of Bangladesh,
Bonglodesh Somabaya Bank Lid. Test for Officer - 05.12.2015
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Short essay in English:

=  Write a short essay on Bangladesh Development Bank Limited.
Bangladesh Development Bank Lid. Officer (Cash) - 15.01.2016
“Traits of a Good Banker™
Agrini Bank Ltd. Test for CHTicer (Cash) - 2015
=  Banking as a teol of Development
Agrani Bank Lid, Test for Senior Officer - 02,07.2015
«  Role of Banks in Building Middle Income Bangladesh
Agrani Bank Ltd. Test for Officer {Cash) - 21.08.2015
o Banking and Rural Development
Rapshahi Knshi Unnoyon Bank Test for Officer - 22.11.2014
= Choice of Profession
BASIC Bank Ltd. Assistant officer (Cash) - 17.00.2014

Short essay in Bangla: \
o FeNOTCR AR i e g RS TR MW woE e |e
Bangladesh Development Bank Lid. Officer (Cash) ~ 15.01.2016
ae T cafeTE

o Coilw IR Raew e (e« gfEil® e e,
=T HE TS TS TR |
Rajshahi Knshi Unneyvan Bank for Senior Officer (11 7% Wreten — 15122013

e P OFF OIS (NATO)

Karmushongsthan Bank Lid. Test for Offic 4082015

o AT P oo S gfire 6

Bangladesh Samabaya Bank Lid. T

rmup, in English:

*  Write an essay uu "‘\ hnology and Globalization™.
Sonall Bank Ligd. ]— 1B.05.2018
* i gunrr:llnn indulging in terrorist activities? How this menace could be

. Executive Ofieer (Wrinen) — 21.04.2017
suy discussing wavs fo imporve transport system in Dhaka Ciiy.,
nk Lul. Executive Officer (Engincer) Electrical - 06,01.2017
an essay on importance of bank in the daily life of a citizen,
anglodesh Bank (Written) Cash OfTicer - 24.02.2017
#  Evaluate Donald Tromp's performance in the first 25 days as President.
Bangludesh Bank (Written) AD - 17.02.2017
s o vou think construction of Padma Bridge from our own rescources is justifiable? Please

Wrile B essuy,
Janata Bank Ltd. Test for AEO {Teller) — 23.01.2015

#  Private sector Investiment has remnlned relatively stagnant for the last few vears. What
measures do vou suggest 1o increase the privale sector investment?
Bangladesh Bank Test for Assistant Director — 28.05.2014

& Write an essay discussing wavs lo improve transport system in Dhaka city,
Rupali Bank Ltd. Test for Sentor Officer — 27.09.2013
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Fo_:m “"ﬂliﬂE in Emgj_m

o Tnm e R v’ @ Sl v s fere comm e o
Janata Bank Lud. Executive Officer (Wrinen) = 21.04.2017

o e ferlfy” e g o v e
Junata Bank Lid, Exccutive Oificer (Engineer) Electrical - 06.01.2007

« ot e el S ov 8 wnew wiie Tvre o TR B o T g
Rangladesh Bank Cash Officer (Written) — 24.02.2017.

«  wm wEor e Surrs snedifEs sy fravm s wf =
Bangladesh Bank ( Wrinien) AD ~ 17.02.2017,

o ANTICY TRUERTE T wrEeTs | i v freof Su wm a1 e v
& e o cure s ) e el T g
Jonata Bank Lud, Test for AEO (Teller) - 23.01.2015

#  Critically discuss the statément that high interest rate is binding the private sector

investiment in Bangladesh,
Bangladesh Development Bank Lud. Test for Officer - 2014

o AT SHwA el wiveee et Fredafe fgfeire w-fe vl |
Rupali Bank Ltd. Test for Senior Officer — 27.09.2013

Letter! Application’ Report I Banglo:

o TMTT Wi W Wy 4% wwE HoE
sz Wy 4 foww Sone ke wow wER
Bwireutn 4o WG OwE o |
Ranglodesh Bank Ofcer (General) -

o O WY WOFH TERE U T
el w3 e |
Rupali Bank Lid. {SO) 43 01

« Wil omm e W W 8§ e 7w we ne o fe aam
TR Tt | & T el s Teft wor Sles v ol awre-

wiv aes e =
e SO et wFaTe | O

NS Aicer - Cash (Written) - 20.01.2018
s wiEEh wew swwen s wilio AeglE e Afioe e gl

i Bank Lid. Officer (Cash) - 18.05.2018

s, Wi S R v i) | wrE e B ofel e e aftay
7 Ty AT AR I SIS G o (o T S 5 |
Rupali Bank Ltd. Officer — Cash (Written) - 30.03 2018

. wmmﬂmﬂmmmmmmqﬁm

|

Sonali Bank Lid. Officer (Writien) - 20.04.2018

o wr arfibiy s wre oo @O ST @@ el efl e o aom anmein Ty
s Wy e iy ol om g
Bangladesh Krishi Bank Lid, Officer (Cash) - 2018
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« uEfir rE eI wiRe wEiET ¥R MR W wivEICE Wiy orew o | frge e o fienm
T e carneae el 8 ol s s w i e v il
o
Bunglndesh House Building Finance Corpomtion (50) - Writen 10,01.2007

o S F0UE e W Wi aETesE Wik SreEi e ey d wom | oF cwhed
wittrrars gires freme Freonfes wam wn e Sufe wdren Bl wufes adn am
T e ol o g
Jonata Bank Ltd, Assistant Executive Officer (RC) Written — 22.09.2017

« g e wiEE fpnr T ey PeoR PR Bfie W aner W wefm o
wirs wErTAEivTe Rl e v g
Rajshahi Krishi Unnoyan Bank Lad. Officer (Writlen) - 15.08.2017

s W ST TR SEr aftwm s Wi e gt w0 FEne SEeR w0
ol o o
Agrani Bank Lid, Senior Officer (Written) = 14.07.2017

« gl sl wreess afsbns R g o o s s 1
Janata Hank Lud. Senior OMicer (1T) - 290.01.2016 e

«  witem HiEvem @y T w0 oot winw el nem o= w
Agrani Bank Ltd, Test for Ofheer (Cash) - 2015

o YISO O WU T oo iR Ul i ot et afB w5 g |
Agrani Bank Lid, Test for OfTicer (Cash) = 21,08.2015 .

pelish:

Letter! Application

= Application Writing: Relief for cyelone
Junata Bank Lid (AEQ) - 1000120
*  Suppose You are working e bank. Write u business letter in English by
announcing a new produ ded to the costomer service of your bank.
Agrani Bank Lid O[T asl (Writlen) - 200012018
*  Writes an applicati thp Honorable Minkster for Finance highlighting the importance of
an imported Industrial ravw materials,
Somali B (uﬁu:r{(‘n.sh] - 18.05.201 8
wour bank manager requesting him for providing internet banking facility

nggsion Bank Lid. Data Entry Operaior { Written) - 27.04.2018

o8¢ Yoil dre a bank cmplovee and vou want 1o join in an "Evening Executive Masters

ogramme’ related fo vour job, Write a letter to vour Branch Hesd (o seek necessary
permission for the enrollment by explaining plausible reasons.
Rupali Bank Lid. Officer - Cash (Written) - 30.03.2018

Write a letter to the manager of customer service division of a commercial bank
complaining about some of the Automatic Teller Machine of the bank Treguently being
found out of service,
Agrani Bank Lid. Senior OfTicer (Written) - 14.07.2017

«  Write a letter 1o the Head of Card Division of 8 commercial bank Informing the loss of vour
ATM card with o request for replacement.
Banglodesh Krishi Bank Lid. Senior Officer — 200012007
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= Write a letter to the editor of o newspaper complaining against the reckless driving of motor
cars in the streels,
Jonata Bank Lid, Executive Officer (Engincer) Electrical - 06,01.2017

«  You are the manager of a bank. One of your clients has requested you to reschedule a loan
he had taken. Write a replay to his litter, explaining way it is not possible, and requesting
him (o pay off on time,
Sonali Bank Lad. Officer (1T) - 23.12.2016

*  Write an application to the Branch Manager of a bank for a SME credit.
Bongladesh Development Bank Lid. Officer (Cash) - 15.01.2016

«  Please write a letter of appreciation to a high profiled business client of vour bank who won
ihe presifgious *Sest Enfrepreneur Award 2005° The purpose of writing the letier s not only
an appreciation but also an inltiative to recover a Taded relationship with the elient,
Fajshahi Krishi Unnayan Bank for Senior Officer (1" Class) Written - 15.12.2015

*  Write a letter to your friend narvating him/her of a book vou have recently read.
Agrani Bank Lid. Test for OMicer (Cash) = 2015

«  Write a letter to vour Teiend inviting him in vour village during the wintetacation of the
vear, Include briel descripiion why do vou think that vour ville merizing
destination for ciiy dwellers.
Karmmnshongsthan Bank Ltd. Test for Officer (Cash) — 14.08.2015

*  Write 2 letter (o your vounger brother on your muost f ey Vi%a-Veoce examination,
Agrani Bank Lid. Test for Senior CilTicer - 02.07.2015
*  You are the manager of a bank. One of vour clien sested you to reschedule a loan

he had taken. Write a replay to his litter,
him to pay off on time,
Junata Bank Lid. Test for Executive Off

s Write n letter to your friend narr )
Agram Bunk Lid. Test for Officer |

<

it Is not possible, and requesting

Wihicer — 26072015

o place vou hoave visited recently,
08,2015
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Janata Bank Ltd.
Recruitment Test for AEQ (Teller) - 2020

Total Marks: 200: Time: 120 Minute

5, Examination Held On: 07.02.2020

Wark & Time

fif. 16 women take 12 days to complete a work
which ean be completed by 12 men in 8
days, 16 men started working and afier 3
davs 10 men left and 4 women jolned them.
How many days will they take to complete
the remaining work?

ya w9 frome os W vy FE e sy e
|70 O W R e AR v T W
e o =0 | o PR W T R Yo W
Y (S T 050G 5O o™ g 8 v Hiome
& wrom ot fom ) e e wefm g T
It women can do the work in= 12 doys

| women can do the work in = l‘l"' = 16) days

| woman can in | days = ﬁp.un nf#l'u:
work @
Again. 12 men can do the work iy

I man can do the work in= Ziglays
I man can in 1 days 5 tl 3 of the work

1
_—HHExlIS-E

Mow, number of men still working = 16— 10

=G

I
ﬁrn.:-ns.ldn_wunrk- TPY flde u.F"'“
And 4 men’s | d'ws- Wurk

RETT Tt 43""'“

They can doin | day

T M I

16T 4E a5 2pmn

Mow, 1I.. part of the work is done in = | day

:;pm of the work is done in = ".',: = & days.

Ratto
2. Three cars leave A and B in equal time
Intervale. They reach B simultaneously and
then leave For Point © which is 2400 away
fram B, The first car arrvives at © an howr
after the seeond car, The third car, having
reached ©, immediately

urns back and
hieads towards B, The fir d the third
car meet a polnt that I® ¥ from C,

What is the diff n the speed of
ﬂw first nnd th far.
5 m E-C 1

ﬁm T B 0 oThewR ' C
ﬂﬂl o B owe Tm g 2400w,
C @ (Thawm | 9% e A O
| whm wifg C o= e wam B G
oo aen B o 6 ol ufg aw am
WITA TS T, O E0E O W gay B0k,
#ve & wEn miEa wfemn i =2y
Let, first, second and third cars are ¢y, & be ¢;
respectively.
Distnnee covered by e 2 ¢y
= (240 - 80) : (240 + 80)
= |60:320=1:2
Here, we know speed is directly propontional
to the distance covered by these cars as time
i% constant,
Ratio of speeds of ¢y 1= 1 :2
Again, at first meeting of all three cars as
times are in arithmetic progression,
speed is tn harmonic mean.

2 2 4
50, ey's speed = :!: -
Riljﬂﬂ-rﬁ}'ﬂd=|2%22=3:4:ﬁ

I
Then of time = 33" ﬁ—-l._"' 2
ifference between the speed of ¢

M40 240

and ey = =5~ == 120 - 60 = 60 kmph.
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Farteership
f1, A, B and C fogether start a business. The
ratio of the investmenis of A, B and C is
128 2 0.75 @ (.25, Afer 8 months A adds
thrice amount of his carlier investment and
C withdraws hall of his earlier invesiment.
At the end of the vear, they carm a total

New cost price = 420 Tk
Profit = 420 - 125 = 205 Tk.
P:rc:nla};,r of profit on selling price

=223 a
-IIl:I = 00 =T70.24% = T0%

Mixture

profit of Tk, 8,000, What is B's share in | #8,

the profit?

5 A, B & C fom sl apom e s | e
fafrantom weeme 0,125 £ 0.75 : 0,25 8 W @
A T o 3 o9 TEcn g C wE
Rl wrds wm Fm ) 75 i = 5,500
Dl T W wrs fEpie B e oy
Oiventhal, A:B:C=0125:075:025=]
(6 2 [Daviding by 0.125]
Let, the their investment are v, i and 2x taka,

A's capital for 12 months S:

= Ex+ (4 = dx) = By + | Gr = 24r lnkn
B’s capital for 12 monihs

=12 = fir= T2y mkn \
C’s capital for 12 monihs @
=(Bx )+ (4 xx)= Iru.'+-1'r— tokn

Ratio of their | mmlrn:nl

=2l Tir: 20y -

B°s share of profi

Prafir & Loss
4. In a certaln store, the profit is 320% of the
cost. If the cost Iincreases by 25%s but the

selling price remains constant,
approximately  what  percentage of the
selling profit?

5: osm ool GrReIA, SRR 320 s u |
TG W 25% (0F TN wE g Y
ﬁmwruw%mr

Profit = Imxlm 320 Th

and selling price = 420 Tk

Mow, new cost price

= 1258%of 100 Tk, = 125 Tk,
Test Magie Publication 2

Three vessels whose capacitics are in the
ratio of 3 2 2 1 | are completely filled with
milk mixed with water. The ratio of milk 1o
water in the mixture of vessels are as 5: 1,

1 oand 4

1 mm:tltm‘:mng iol'
first, 'Ii of sccond and @ mixture,
4 mew mixiu new vessel s

. The p iage of water in the

oW WHEE WGNE 3 2 | R
wt wr o oy | o Tef
ST W VeI 502,40 ] R 4
|_mﬂrm§w,ﬁﬂu*ﬂm%m-rm:
mm%mﬁmaﬁﬁaHMWm.
g fimesy wraa wifir (e wey
Given that, let the capacity of three vessels
are Ir, 2y and x liter,

Mow, tnking three vessels separately
Vessel - |: Mixture taken out

| :
=3 - g
yxy=zx liter

q
Amount of milk = Tr

"._1'
and amount of water ==

Vessel = 2: Mixture taken out

= Iy o % = x liler
Amount ol milk = uml amount of water =é
Vessel - 3: Mixture taken oul = x x % =3 liter
Amount of milk = 35

and amount of water = %



) Sy 4y dx
Total milk w7

_2ir+x+dx  57x
N 15 T
Total volume of mixiure

i
=y y 1-;
_Ix+Te+x
B 7
s
=
IIIH‘I:T;'I
Pereentage of milk = [
7
1) = 57x 7 3900 -
35 *Tsx- sas — 10v

Percentage of water = (100 — T6)% = 24%

Greomelry (Rectangle)

An order was ploced for supply of carpet of
breadth 3 meters. The length of earpet was

breadth and length were increased by 2
und 40 percent respectively. At the

Hs. 45 per sguare meter, what wogdld
increase in the cost of the car

144 times of hreadth. Subscquently, lhe«

5 o Tim =g g ET
aLeThE DT SER 368 w4 =y a g
T % T de G o
affalie <= TATE WH (W W
AFAr
i 3 meter
I = 3% |4 =432 meter
A Ix432= 1296 m
New breadth = 3 x 1o =« 375 meter

HH
Mew length = 4.32 » 7= = 6.048 meler
Mewarea =375 = ﬁ.D-IS =22.68 m°
Area increases = (22,68 — 12.96)m” = 9.72m°
Total cost increnses = 45 = 9,72 = 4174 takn.
Equuarnion

07, X +;5- 1. find the value x "™ +x™ +x ™+
MM a8

8: Given, x" + ;l:r= 1

Test Magie Publicarion

&:

So, x'*—'—vj{:p-—) (r+ :] [Multiplying
both sides by (x + 1)
2oxetode(es)

24dug

i L " B4 ™ E
MNow,x  +x +x +x +x x4+ 5

" | o i 7 |
=x (.r‘-?lj+: [:.f'-::)-*: ' (.r’*,l.jl

+3

= () + 0+ 5= 5 (answer

. Essay writing ﬁulunutmn
Imp:r.:t of Bangl
Thi: figrih indusirly revolution is under way

ing with it a series of upheavals-
thation, machine learning, and
& mielligence ore gradunslly making
way inio the production process all over
world,  However,  such  major
breakihroughs in the production process will
have negative cffects on the job market and
the Bangladesh economy, as the introduction
of machinery m the production process has a
higher probability of affecting unskilled and
semi=skilled workers adversely compared 1o
skilled  workers.  According 1w the
government's a2i project and the International
Lobour Organieation  (ILO),  around 60
percent of parment workers in Bangladesh
(5.3% million) will beeome unemploved by
2030 ond be reploced by mobots duc to
automation in the RMG sector,
The garments sector has played an importan
mle in uplifting the cconomy of Bangludesh-
creating numerous jobs, pushing down the
mimber of people living in poverty, and
fostering femaole lnbour participation, A major
drawhiick however is that a large portion of
the workers employed in the RMG sector are
unskilled; with sutomation, it s these
unskilled workers who will lose out. While
Bangladesh 15 the second largest garment and
textile exporter in the world, it lncks the

I:-n



capacity to transfer workers from the appare|
industry (o any other industry. [t also cunnot
create sulficient jobs for the workers who will
be laid off as o resull of automation, thus
leading 1o the probability of  mass
unemployment in the country.

Despite o large amount of surplus labour in
the country, advances in technology have
made it more lucrutive for producers to opt
for sutomation. Garmenis owners are now
focused on integrating automatic machinery
in  the production  process;  due o
technological transformation  all the  way
through the wvalue chain, a2 number of
challenges throughout the production process
has been overcome. Fourlcen steps  are
invalved in transforming fabrie to ready-made
garments-automation has been introduced at
almost all stages of apparel making which
has, in tum, reduced the dependency on
Iabour,

Accessorics and  Packoging  Manygfo

and  Exporters”  Associnlion (96

every year around 100 ac@rids ane
beginning operotions ond aRCushg advanced
technology  in entine  apparcl-making
se new factories also
e and factory rules and

re ctly.  Approximately 250
fi he country are fulfilling orders
with of the lotest technology and

machinery. The use of advanced technology
assists in cutting down  production  costs
significantly (30-40 percent) and has spill-
over benefits in terms of higher productivity
and  reduced  lead times.  Though, the
introduction and wse of automatic machinery
in the RMG sector is costly it will help the
sector reap benefits in the long run in terms of
higher efficiency.

Since automation in the RMG sector is in
progress and Bangladesh has no other apiion
but o embrace il in onder to take the apparel
sector 1o the next level, it needs 1o face the

Test Magie Publication

According to the Bongladesh Gn%\
M

inevitable  challenges  amd  embmce  the
opportunitics brought about by the fourth
industrin]l revalution. Auwtomation has grave
implicotions  for employment-while it will
definitely lead w lavoffs and job cuts, on the
other hand, there will be job creation as
machines need supervision and expericnce
wear and tear, on the other. The type of jobs
created as g result of aotomation, however,
will require skill and education-which the
country lacks. There is also the threat of
production being redirectedgly industrialized
countries a5 well  as %ﬁng. since
producers demand a ski 0

The governmen

force,
mkers need o

step in to the issue of job
displn nt brought about by aulomation
and thee necd for skill development of
mation will lead to creation of

jobs in the service sector and the
vernment needs o divent some of the

disploced workers 1o this expanding sector,
However, this will mequire imvestment in
cducation and training.  Furnthermore, the
government needs to ensure favorable labour
lows, take initiatives for skills development,
and provide socinl protection. There is o dire
need  for  training  for  developing  and
expanding labour market skills 1o ensure job
retention and assist terminated workers (o find
alternative ways 1o make a living,

Bangladesh nlso has the advantage of
realising the demogrphic dividend, where
too, investment in training and education is
mandatory. Restructuring of the education
system amd reducing the gap between the
eiducation system and the labour market needs
1o be addressed. This, for example, will
reduce dependence on expairiale monogers
and help curb vouth unemployment. The
government must ke immediate action to
prepare the labour foree and the economy for
the challenges that lie ohead and facilitate the
smooth transition of the RMG industry 1o a
higher value ndded indusiry.



9. Essay writing In Bangla: = s ufire

5:

wg ferea gfem

wafl e el e T e
= & e e e T wEeE
FHE 6 AEWmeE 59 | e oo wrEn
FTERTS T o T e fafes w=m o
0N (HE (e SR (DM R (AR
dgm | swnn wee e i woe o, feeds
s e TEEm, =@ iee o 7= el
WE e wfewE TEE Age W@ A W wE
fore ceTRe A0 HfedTE o Srs AW
e A i e ¢ wigd ) e
frem W wence wefers  swefrs
TS A WS ¥R WNDE Gw S
B, o afo mre ww wfER e Save
o7 T o w wrirE W e TR
e e e aoie wRfa Fremm
faafa freiE am oorrs Fare e = FfafR
wOET (TETT  OWE | W R

form ofebem =SS Q0% d9E

=1 ﬁmﬁnimwlmmm
WE weieR (S WEE =W oA sl wy
= g wm, P wEen 5 oS o
frie ¢ wcrfem e wweeg el
fom T T =T R ew Foeee
o e Aol ofoe fmme | s, S
= W, wew, FeeE am s
SEwrm am Srem faere S wm wifs ) faw
il =en 5 i @, a¥E o R = e
e syfsfida frwm o = crecgp R
ArETh v BEwS W s oA |

WEETES NEEETEd  TRE WOE RS
wivfer wifem weme ww oo wepEE
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AT A TR AR UEN WE SR
WEEE AT MAN W EEY IR, R
s wls a0 oo Pl wme sy oo
AT W 1 BT avwe we-fwfee amm
e T T e AT STk
Wy T fore Som e e

e o Rvm e o, e e
s g ¥ geifcs wom Ww W ST
unfirs ome v fEEpe aEe o,
wifes e aefites soom werT W

anrs i, o iR A Y
sFged e % o | fefetm
ey e e o=
e faem = e
wTE e % caer fren

mﬂmﬁmmmam

T TR |
AT @ WCE TE WA T
*mn fawte Fomeee gom Frdeite
FUCA AGH | 4TH TUTEEW WA B TER
(TR (A WIS wE o wEAm, w Fdme
& =Eu e o corw spfitn someeTe
Ay o == Bfve ) o= T EEER AR
frpe |
=y adifen Smma o wefe o argyd
W WY W W T WAEER Y I
2 = e e ofeemse W GO
TR T YRTE T 9y M s
G e BeTHA S AE R |



Janata Bank Ltd.
Recruitment Test for Assistant Executive (Teller) — 2009
Total Marks: 100; Time: 60 Minutes; Examination Held On: 20.12.2019

(. @1 = 05: Choose the ward or phrase that best
completes the sentence.

1. The vice-president will be seated _ the
chalrman ot the banguet.
a) by b as
c)to d) from ans. A

oAl T WERIT W I W qwIE Be
seated by somebody at the banguet phrase B
TNGEE W O¥TA, Banquet ¢ gRcs

£

#2. The head of operations _ to the
management convention.
a) go b) 1= gnjng
C) going d) are going
5 The head Wi S S5 a;f?n:;
fif"  Operations €2 Head =
AT verb” T - ru
e wd S a.'
T T
1. Visitors are ¢ mame tags af all
times,
b} is wenring
d) be womn ans., C
5: ive, awits sl B afnm
7 5@ W WA To wear name
tags. Wd e wfefve wve gre W wRm
o woufEm | =% B W To wear.
i wdy wimilioes e s i T e
WA wfern oo wufEn
04, Many customers have requested that they
_ notiee of our sales.
a) receves b) receve
¢) received d) receiving  ans. B
§: O AT Principal clouse @ iy Ml
‘verb® o0 9T ‘that’ <@ Cverh® e

Present form 904 | “verh™ 00908 Subjective
verb 9091 &G0 WRIE Propose, suppest,
request, recommend, adviee, demand, urge,

Test Magic Publicarion &

Ejl

§:

5

s,

5:
I,
5:
11.

. a) EfMomscence

ask, require, desire ¥20TH | A8 The doctor
suggested that he take medicines duily.

TR wd s e s wfrhe @
T e e frie em

The persom _ lost o briefease may claim
itin the labhy,

1) whaose b) whom

) which dy wh ans, D
AEE Interrogntive |: Represem
0T TW T Cw | A
*ff” = who'

hoose the carrect word speliing
siver opifons,

ferogencois b} Heterogenois
¢) Hetrogencous d Hetrogenous ans, A
Heterogencous = fafeg  Swmmm ot
wETg; g
a) Recesion b) Recission

) Ricession i) Recession  ans. D

Recession =¥ ETIERE; A 5FOIET |

b Efllorescence

¢) EMorescence d) Efloreseence ans, C

Efflorescence =9 3o000R =, e 1M
fe il

a) Dillerna b Dilemima

¢} Dilema db Diliom ans. B
Dilermig =9 T50.9%5

1) Foalacious b) Fallosious

¢) Falascious dj Fallogious  ans, [
Follacious =9 Faier oS g=ms

a) Supersede b) Superceed

¢} Supercede d) Supersecd  ans. A

Supersede =4 wA wfewm = Py
oS W |

§2 = 16: Read the folfowing passage amd
annwer the guestions given below:

Speech is great blessings but it can also be
great curse, for while it helps us 1o moke our



imtentions and desires known 1o our fellows, it
can also if we use it carclessly, make our

athitude completely misundersiood. A slip of

ihe tongue, the use of unusual word, or of an
ambiguous word, and so on, moy create an
enemy where we hod hoped 10 win a friend.
Apain, different classes of people use
different vocabularies, and the ordinary
speech of an  ecducated moy stike an
uneducated listener as pompous. Unwintingly,
we may use 3 word which bears a different
menning 1o our listener from what it docs 1o
mein of our own class, Thus speech s not a
gift 1o use lightly without thought, but one
which demonds careful handling. Only o ool
will express himself alike to all kinds and
conditions to mean,

Passage & =% Interesting. =18 =@ gued
T Ppssage S9 TG A GEL

s waf i o SR W
#ftwr vim | Fey aff woes s wfense
o0E wE | T oft i wTedeR i

e v @ o Wy A Im e
HARE AW AGOET ST W, T

o, WATEIES % 5UA, T8 0%

12, The best way to win a Triend is to avold

a) irony in speech

b) pomposity in speech

¢} ambiguity in speech

d) verbosity in speech ans, C
S AEE W e o e e

WA ) CF WITH, B A A B |

13, While talking to an uneducated person, we

ahould use
a) ordinary speech b his vocabulary
¢} polite langunge  d) simple words  ana, B

5:  fre SR e T T T ST B
Test Magie Publication

WA ) O WITE, TIOM TAEE W Awn =
e

T4, 10 one used ihe same style of language with
everyone, one would sound
a) foolish by e
¢} horing d) democratic  ans. A
§: (9% WM AN 4% TeTS S AR 0
fas
WY ) 68 W Foolish =Y iR | =% a6
& |

“A slip of the tongue' means something sald
a) wrongly by choice

) without giving proper ¢ l&
¢} umintentionally
ans. B
T

) to hurt another
F: Aslip of the Innﬁi
) B Without giving proper

thou 3¢ &9 v @ w0 ™ ow wg
I the tongue.
h can by eurse, becanse it can
urt others
b lead 1o carelessniess
¢} revedl our intentions
d) create misunderstnding ans.
5: = faren et S wfemm e ar
= ) (8 W% Create misunderstanding =4
shie o R am afb wfeny we
TEA |
. 17 =32 Choose the correct ansiver,
17, ¥R erame ofes Tuafece Ten s T
WEH T
1) 2 wpEs b) 1% wrerd
c) ™ o oe di=EE g5 ans. A
S: oww M wWR g Foe wEom s
e (y980) R AbE 4TER A
(SrEEie on ¥wem momm ¥ i .
ffsfon oz wmm omen ) mafom 3
GETGTE (4F A GEES) . A Grammar of
the Bengnli Language (1778) (=nefre ey
Ife), Bifmm @R - A Grammar of the
Bengali Language (1801) (Ruafere wfvw)
TEN AHCHIER W WA e e fofr wen
WY SN A AR T A ) E e
arwe A ofE e (res) |
18, <o s ol 5 s a9 ey

13



.

2,

2.

23,

M.

25.

a) 3oft b) 35

c) yaff d) yof ans. C
e wrm 33 wfE forwe avew a1 aeom
T () AR (), WITE o (),
s fom (7)), frmm « oo s (1), oPm
(z), w™ = (-), @Fm o (), 98rm T
A fis, o @ v s (), T s
(*Mp b asnE=) (] 0

wy a Fedireds o iy

a) Ay b} wEa

c) il d) Fofrs ans. A
" wmed o5 A W ) e ] B
' aqu fedreds W @y

a) s by corft

) cErE o) wfeme ans. D
o camil i wedifim Semee

o) = b F=E

¢) TTEATE dyuEeis ans. B

frmm wrefrs wod wfewn el @ @
I o u e B T US
V1 0T e (0 T = WeiE:

i (FEfTS) o =m = #fHEY, WS ()
@ = = S, o (2R W) T (wreieE)
= #ETE, ¥ (27 =) s = avfe Tenfs |

Forgery %3 Tom «fem

) oFfEmiR ) ST s

¢) Wi Jywmfz  ans. D
‘AR TATE TER TR 45 P A

a) b #EE=

) foram o) " ans. D
SR aur WEE U = | e wed e
HITHE (VTS I3 T A

u) e b) =T

¢) e o) EEH arns.

Test Magic Publicarion

.\2

5:

2.,

27

5

ficfme =d wom o =fm s ol @
W:

e e =l =R @

a) TR b) TE

©) d) == ans. A
wiwr earm o W SmE wEW g g
vliwre B off o= w5 wEw | aomm oM
S 6 3p AL W S, SR wEETE TS
wrEEE ase G0 wio EETSR wa gEen
wiEE o

fmmm, frmem o e Teni areecm o™
R Wi e

ans, I
Funfe  amemeE

J.

il

ETEY
S, TR,

L]
Lol (L
foian S L
W, s, ferafom,
T s Ture
el e il Do s oo ey
a) =E= b} arard
¢) wifem d) FoTrE
] wi= Wi
=y i =rd

ans. B
TR
il

. i 1w cariy

a) T b)

) ®TH o) e ans, C
fire =y W (HME), oWIE (cEE), gE
(Af), BBaf (wRehmw) | Sy, o
wfw, gfe | vl == owem, faomm, =,
a, STETE, WIEW, SV, JOETHI, RO |
ERID e e AT

) g4 + ¥ b) 9% + =Td

c) T4 + 9rd dygse + 59 ans. A
‘w9 fem W' W W O (N
o + W) o7 fam W' @ o T il
e = w el wn o o 5 G

W+ ¥+ TR Tl + WE = g |
H4+W =R BT + wE =H=d |
ey e, e el

=R o T

u) tfare by tAwe

¢) e d) T ans. C



£

2.

b

i3

5

M.

5:

15

i wd gy cma; gfea o #foa Foesa
ﬂW&ﬁﬁ;mr

foun' W wfts wd Al

) FEE h) B
¢) &% ) =femrs
fowe wmd fifpors; T

33 = 58 Read the following  gquestions
carefully amd choose the Fght arover,

Two buses start at the same time from
Delhi and Agra, which are 300km apart,
towards each other, After what time will
they eross each ather il thelr speeds are
I8km per hour and 37km per hour?

a) 4 hours bj 3 hours

¢} 5 hours d) 6 hours ans, A
o) e e on, Bt & e wme o A g
AW R WiEgd mae 5o Pl e s
STl Wy I00km. ST TSN IRkmph a9
3T knpdy TR w0 v ffers way

wfa, = A v e R T

x WhTm 3% Mg TR 38y Ferfata

ey WO an G A 37y Fevmfatre

HEAUE, 8% + 3Tx = 300

ans. B

mplete a piece of
leiic can complete the

ST W % In how many days
can ete that work?

b) 5 dovs
c) d) T dlays ans. C

ST W T N, A Ot B ga 450 T e
4 ) A 9| wET 12 T ovErE R B
7] BT FE FU TALS AR

(A + B) @2 Iﬁ!‘cﬂ‘ﬂm=_~;ﬂﬂ

e, A a1 | T e = 1*“"‘

B 1 31 o et 37w 3 = 0w oA
IF (8.97) = (15.08)' + /624,89 = 9", then the

value of m is

Test Magie Publicarion

@\
et |

I =

SR ISR

a) 3 b) 4

o) d) s ans, A
G W, (8.97)° = (15.05) + 62 s =9"

9 x (157 +4f625) = 9" I Ffame
= =TerTe e fas =)

0 % (15% 4+ 25) = 9"

9 % (225 +25)=9"

0 xf=0"

g+l _gn

9'uyg

=13

How many seconds will n
take 1o eross a man wal

3 kmhir in the llIr-Hl:I

if the !-]H:tduft

n) 25
<) 40

i long train
ith a speed of
ing irain

ﬂl‘ll.
, 63 kmmr e 500 falbm &
suE am ufE 3 bl

ey onelt o G Ssomd ofe oo Fre
E[Le: ]

g, Gfoe | WO Y = (63 - 3) km =60
&rme = B0 = 1,000 m

60 = 1000 m =T =908 = 6 = 60 scc &

60 = ) = 500

00w =fErn TaE = 0> 1000

=30 sec 4

- A lent Th. 5,000 io B for 2 years and Th.

3,000 to C for 4 vears on simple interest ai
the same rate of interest and received Th
2,200 i all from both of them as interest.
The rate of interest per annum is:

a) 8% b T

) 73% $10%  ans.D

o7 I EE 1, 4%F WER WM YR A &
5,000 B 2 e w43 O 65 3,000 T 4
e o o A arE @ 2,200 T =9 o
o §E wEy

ofE, WO TR = %

wdie 100 T | T T =« b

,
5,000 B 2 T T --'—"5-:?,?——3—‘

= |0 Brem
wE, 100 T | e 1w = o b s



A8

an,

==

==

3,000 TR 4 3w 357 = SN0 g

= |20k Tram
s, [0y + 120x = 2200
220 = 2200
2200
X=55p = 10

Nikki s 25% more efliclent than Tina.
Tina alone can build a eraft in 20 days.
Find the number of davs taken by Nikki to
finish the same piece of woark?

a) 16 by 17

¢} 18 dy 19 ans. A
sre ) wrem o, B o=l @ 20 fie s
omn | ffe, e o 25% @i v o &
WIEG wACE HhE WS HWE WAL

fien « fafre =pfwwem s@ws = 100 : 125
S, IO R ) A T T W e,
W waerE B A

wegy, =l wre B0 125 Fm Fo e o
= 100 f=m

zeil =re Bm 20 Fm fim Ffe om <

100 = 20
T"’Iﬁﬁ"ﬂ

A man can reach a cert P 40
1

¥is th, he

nid the total

hours. 1T he reduces his

fte @1 @ wen S A o =R Am ) W g
wEp

i, ol & WE x kmph & |

MBI AW T FEA T S kmpih

e w Ees wfeo are
sk

=75
e, 40y

40 x a5
112
dl}.r—TJ=5

15
12006 112¢

Test Magie Publication

= (3 » 40) =75 kom.
[~ g = ¥« )

Repeat: Soing Recraiiment Test for 2 Banks

4,

5:

(Cfficer) 20809 2008 & Quesiion no: 44,

A man takes twice as long to row a distance
against the stream as fo row the same
distanee in favor of the stream., The ratio of
the speed of the boat (in still water) and the

stream is:
a2:l b 7
)zl y ans. D

xiy=3:1

- A, B and C lnvestment In o partnership in

the ratio of 5 : 6 : 8 The ratio of their
profit is 5 : 3 : 12, Find the ratio of time for
their investment?

a2:1:3 byl:3:5

e 1:T:5 dj4:3:5 ans. A
0% W W A, B g C 4w 5 6
12 o TR wm e wr ffn el
o, A, B &% C QYRR x, y 49 = FUOR W
e = fafemm =m

w1 RO ST WTEEE S 6y 8o
TS, Sv Gy Bx=5:3:12



it B
A shopliceper murks the price of an article
at Tk, 80, What will be the selling price, if
he allows twin successive discounts of 5%
cach?

a) Tk. 72 b) Tk. 85

) Th. 72.2 d)Tk. 7.2 ans, C

oo W I (1, 9% Foes aafl eew
ve B Ffme swom o ofsfts 0%
Discount fare Fanfle =m e war

#2 ATR 5% Discount o 5o

5 a5 _

=80 Im—?ﬁ'ﬂ‘m

i ¥ 5% Discoum e 370
*Tﬁx%ﬂ 72,20 571

42

If /2 = 64, what will be the value gf
a) 12
)4

43,
b) §

dy 16 A

Lon=

Repear:  Jonota Bank  Led (EQ-Affernoon)
203 200 T & Cheestion mo: 63,

i

1 .
NiTaEe ihen the valoe of N is?

1 1
44, Il'_;:;-

a) 1.25 by 1.5
)22 d) 2.5 ans. I
b 4.1
S: CWWRE, i TNITE
1l 1
3s_N
=3 it
N 123
1. N_ 1 135
= FETUNT |

Test Magie Publication

How many litres of @ 90% of concentrated
achd needs o be mived with o 75%.
Solution of concentroted acid to get a 30
liter solution of T8% concentrated acid?

a) 8 bl 6
c)7 iy @ ans. B
S &0 T o o, 008 HAtd @ fWhm o
Cxrwre 750, Red eflew wi YieE 7R% HEld 30
Ftm afie as
fa, 900, Hare e
Ta0; Ha afFs f
R, (.9 + u%q = 30 % 0,78
= 09x+QQ5-0.75: 2234
= 4-922.5=09

difference between  the  compound
interest and the simple inferest on o certain
sum at 5% per annom for 2 vears is Th
150, The sum is?
a) Th. 500 b) Th. 400
¢) Tk, 300 d) Tk, 600 ans. D
o I e o, <9 FiRe ofrme e st
A 2 TR Compound S8 Simple imenest
<1 méd 1.50 e T, wpm Ty

fa, wrm b
9 A0 AT | = pro 47 SAATE,
“‘““W"F*“““:-”;Tnﬂ::—hm

d9t Compound amouni,

53 2y
r=.t[:Ii rm) = x "‘_U') = | 1025y T1
Compound interest = L1025x - x = 0.1025x
HEEE, 010255 - 0. 10x = 1.5

Li_ _

50035 = H00 Br

Two cards are drawn fogether from a pack
of 52 cards, The probability that one is a

spade amd one is 2 heart, is:

I=

47,

3 1
35 b) 703

] 431 B
)33 T SIna.



£

45.

49,

X

A,

5:

sre e e, 52 w e g e e
Breew =N WM SE Spade ¥ Hean TR
AL TEP

_52x 51

Iw

51 % ore 2 1 = 52,

STEET A
awR h 13 % Spade 8 @ 13 B Hear wr® |
% Spade @ | B Heart ¢20 o1 = 136, = 136

= 1326 ==

=13x%13=169

| 5 =% Spade o = Heart 2290 FgRTS
169 13
“1326 102

In a lottery, there are 10 priges and 25
blanks. A lottery |3 drawn at random,
What is the probability of getting a prize?

-] i
ﬂ}? h}';

ﬂ% d]% ans. C
=Hre = o o, g wiiE 10% Prize wiw
= Blank =g 250 | o ins e o
SCEEE T W Prize TR EEA) WEP

% Wi A = 10 +25=35

(AT S ke wen = 10

—— zﬂ\@\

A rectangular block Gem by 15¢m
s cul up into act number of equal
$possible number of

) 4l

i) ans. B
@, wwEpiEr 4wl e Ate
T bem = 12em o= 1 5em, ﬂﬁﬁﬂﬁ wEGm
v Tl == wm & S =l

sfzers wwe el wmm o gelr ares
“{TCsT & Wl S e

v e = Sk B L aigns=a0
i

The ratio between the perimeter and the
breadth of a rectangle is 5 < 1. 1T the area of
the rectangle is 216 sqem, what is the
length of the rectangle?

a) lbem by 24em

<) 20cm d) 18cm ans. [
ot T oum, <@ wRrerewm v am

Test Magie Publication

12

LTH WS 5 ;| e oI 216w ool
wEy
ofs, i = g amEy = b

=216 corererrrrnaene 1)
AHTA, A = 2(a + )
a4 "'142
m. h I-
= u+b)=5h
= 2a+2b=5b
= 2g=131b s ﬂ'=%
(i) 7t e ore +7E,
e =2 b= 216 \
= =432 e
= =144
3] |
3

R I O ] (R = T,
Answer o0 o = sam waned -
A

a) &1 o%en
Tl =0
b) 7 |8 VR w0 =

offgdfm = (18 + 12) = 2 = 60;
aar i 1Ay =60 ;12 =5 | =% =
I8 em.

114

==

5= 13.5 cwey wefim |

,
218 _ 1o snem

Repeat: Joint Recruitment Test for 3 Benks (50
3082008 & Question no: 53 Probashi
Kalvan Bank Lad (SECYH 1900 2008 &
Chiextion mo: 43 Janata Sank Led, (EQ -
Marning: M.03.3007 & Question po; ¥9;
Dhaka Bank  Lrd (TO) 120820016 &
Chrestion no: 31.; Exim Sank Led (MTG)
F1.08.2003 & Question no: 23,
The difference between the length and
breadih of o rectangle is 23m. 10 its
perimeter is 206, then ts area is:
a) I,SEDmf b) 1.520m"
©) 2. 420m" o) 2 480m" ans. A
S a0 ww, g2 wwersnm Wl s oy
onda 23m, o wffm 206m T wwER
FEY
¥R, fl = Lameay =B

il



L-B=23 .ccccviinna (1)
&2 2(L + B) = 206
= L+ B=103 . (i)

wrlireRe (1) O (if) R W o
L=63S%tB=40
. (RN = LB = (63 » 40)m’ = 2,520m".

.-!H.rmnrh'c & T A o+ 23 (emda 23 T
HearE, Hx + 21 +x) =26 = x=40
Arca = (¢ + 3) x x =63 x 40 = 2,520,

Repeat: Janota Bunk Lt (AEC) 09.00200F &
Chuestion no: #8,

52 A tap can N a rank in 6 hours, After hall
the tank is filled three more similar taps
are apened, What is the total time tnken (o
Al the tank completely?
a) 4 hirs 15 min by 3 hrs 45 mim
¢} 3 hrs 24 min dj 4 hrs 51 min ans. B

5 =0 I I, S90S & vhE ol e
o == a ) WAl v Gngee s wf o
e W O T wmE off W 4 cram 3o
aw bl o we ¥ = avmr \s
il wn == Bnesfl of o 6 v

mﬁmimqﬂn 3 Wi

:}ﬁﬂ'ﬂmqu,z 3 = 0.75%%m
O A M =3 4+ 0,75 =175 %"
= 3 hrs 45 min

Repear: EXIM Bank Led. {MTOY 11012003 &
Chiestion no: 32

53. For any two numbers s, a3 (i + w) @ (i =
mhsemee =T 21 260, Find the 'rnlur:nl'i':::'

apd:3 bE:7

)34 dy7:8 amns. C

Test Magie Publication

§: T 2 W A, 6 1 4T A S (m + 1) :
R Lodis
{n:—nl,mn—?.l.ﬁﬂﬂ"fm." 7

5|5 =
b

I T
1 R
8
i
§
(FTE S

U
Y

T
=

XN
Qe

1 tgthe second is 2 : 3. And that
g to the third is 5 : 8, then the

54, The s

b) 20

dj 15 ans. A

s T o o, off AR G 08, &8s
frfty s = 2 ;3 aw el o vl
Hewyr wEvrE § K, Rl Aol =y
SETEANE, ST AN 3 AN A =23 = 10 : 15
R, R SR Al = S B |5 24

>3 FAT 2 AW AR 2 oW F = 10 15 24
15
. AWIA = 98 ¥ T WF:-: 9 =30

Rrpmf. Rupalt Bonk Ll (80Q) 150120019 &
Chrestion no: 53,

is, ‘»Jlﬂ.ﬂ'l +4/0,0064 =7

a) 0.03 b) 0.42
¢y 0.3 d) Mone of theseans. C

§: cwu e, \J0.01 ++J0.0062 = Y 0.01 +{U0R)
= +f0.01 + 0.0% = f0.09 = f{0.3) = 0.3

S6, 00 20% of a = &, then 5% of 20 is the same

a5y
a) 6% of a b) 8% of a
c) 0% ol a di 4% of o ans, 1
E: FmE 200 ofa=h
Eﬂw
= ='b
":
5 f



Janata Bank Ltd.

Recruitment Test for Assistant Executive OfMicer — 2017
Total Marks: 100; Time: 60 Minutes; Examination Held o 04082017

01, “FvE” e W w8 Gy

2

3.

03,

i,

a) A
¢ =ty

Frew

by @rsfe
d) =
Lo L]
e, Waw, s, e, , R,
fme walnl_ =
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Fon wv e e Wb gom | Bopa, @l W, ffan =wy wnenfs, wof, few, ane,
e wW wiin = e Flre o T, WCTE, ST, wEA Fenf
11, “wCeT GEE 16, A Wik-6 ST 0T M T TF 4T AW
a) S Tepm b) =irem o Ty
c) d) =t ans. A 1) Flifes b) =T
§: @ e foemd s of g3 e e ) SR d) T ans. A
AR WTE, GReR O3 eI nem wm (Wl | §: Tw wrsfon o FER O wEme T se
W 4 WE 4 HEW) a9 O s uf ok T (UL SNT T A FEE w0 B0 At
e T, T e oF R wws Buww R e s e e e |
TN | TR TR D M BRI R,
TS SO TR AW A ) Sopw, Be Antorym
W AW EeW TS TH A CROH FE | 17 The antonym of the wo &c st
O WTATY | O WA WY MR WA a) Accomplish
CTamE WA B T = WEEE; (E0Y M O = ¢} Plummet @u ans. D
CETRE S (49 W) 90 @ = aurEal §: Thrive - 7% ; B ws W
12, =y o2 % o ey AcconNish - W, TR A (T
a) 1 + B5 b) e + TF =i sl wreTm (e B ot
c)d + By dy & + By ans. I mel — 578 VG Uheu A R e )
13, ﬁmmﬂ‘mﬂmmﬁr te - figa gem
2 b2 \J‘ The antonym of the word “Belittle™ is:
)% &) ¥ n@ :u.; E‘rili--:izn:I :: I;]::.u:r 5
- ; ¢) Exagperate ore ans.
3 :1;_1 :mm“ﬁ oo | 8¢ Bt — € wm: wm s = S
=M Criticize — HEEAEA 300 Flater -
CETTT WE | Exaggernte - WieHwEs L
G Afern @M1 Adore — oW o & = ¥
=M
§: Synonym
1% The synonym of the word “Narcissism™ is:
a) Notorious b} Selfishness
) Self- effhcing d) Dignity ans. B
= 5: Narissism - Wrems Fm w0 Notorious —
i Emﬁmmm;\]mﬁf FUTE | Selfishness - W | Dignity -
) ey 4 werfl " Wi Sell- effacing - Frete o v
IG5
£ T v wE TR wwsone e wm
s i 20, The synony o of the word “Articulate”™ is:
n) Aware b} Garbled
¥, P W, G, U, oM, ¢) Unintelligible  d) Eloquent  ans. D
CHTTET, CXT1, CTTE, o e §: Ariculate ~ 5 Bwma W
X o o Megfes ww s, o, W | Aware — F5% TEW ¥ =] | Garbled — B
e, e, weeata, wifi, cerers, W o W sered e W
vz B
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Unintelligible ~ e =w a5 ===
Eloquent — =r=G; #dt

Spelling

e wd o wes e o 4wl G
TR |

Fill in the Blank (Vocabulary Based)

21, Choose the correct spelling:

a) Questionnaine b) Questionnaicr

€ Questionnair d) Questionnire ans. A
5 Questionnaire — =9@f; wee =y wo=

AAGE S

Appropriate Frepoxition

22, The man was blind his el eye.

a) for by on

chaf dj in ans, C

S:  Blind of — 5% 1 Blind to - 397 7 fwme #=2rs
EE

Ticera =it el aw v e

23, Emplovees must adhere _ same rules
st the manugement.
a) on, for b} 1o, by
) with, by d) in, to

S: i Adhere 1o =4 fga a1 wgre

Rules set F0% Management y

e wds fasres W e = o)

Fill in the Blank (Grammar Based)

The man who has committed soeh an
crime  must  gel  the most  severe

punishment.
a) injurious b) uncharitable
¢} unworthy i) sbominable ans. D

Injurious - wiggz; we@d | Uncharitable
wEEe W 4% Unworthy - ST
Abominable - BRFER: Y97 )

=87 =¥ (Severe punishmefy M =% &1
i Foare | e
{ Abominable

examination because
hisganswers were to the

—

b} revealing

di preferentinl ans, C
Allusive — @ B #W6TE | Revealing —
WY T TS AW A9 | Pertinen) — SHEES |
Preferential — eifeamrsm

s e e e I TR SE
o e fem o Feow 3ae wRTe
T Em =pifEe (pertinent) fEm o aed
ey VA | o7% e T |

e =l A wiem s e =w
=R oW SEAE e iy wiEeyd) e
il

(e Ward Substitutfon

25 She s shocked becanse she a terrible

uccident,
a) sees h) saw
¢} has seen djis going o ans. C

S wB Present Perfect Tense @ @3 Swemd
@1 Shocked (5975 3 wiee) U @9 ....... |
Frst oRe o9 O35 B W Present Perfect
Tense 4F | 450 hos seen o temible
accident T4
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A person who cannot be changed is called
in a word:

a) Indelible b) Enduring

¢} Obscure dj Incomigible ans,
Indelible — RTS8 1 Enduring — G@%; ¥l |
Obscure — TESAEE:; T8 | Incorrigible - 0
it = oo, il Tenfa s wpemei

rrerernmeany ( Narration)

ks

He safd 1o her, “What a cold dav!™ The
indirect speech of this:

a)  He exclaimed that it was a very cald day.
b He exclaimed that it was a cold day.



¢} He excloimed sorrowfully that it was a srolrs ¥ | o U1 it rains, we will get wet,
cold day. IT you study hard, you will pass,
d) He wold her that it was a cold day. ans. A
$: Dircct speech €3 Reported speech W Number Concepr
Exclamatory sentence B3 303 10 Indirect | 33 In o sequence of 8 consccutive Integers,
speech & #fEefds s9E NP + exclaimed + how much greater is the sum of the last
that + WP + be + very or great + object fo= four integers than the sum of the first four
A e T infegers?
a) 10 by 12
Fifiam & Plrase c) 14 d) 16 ans.
30. Mr. Abdur Rahim feels like “a cuckoo fn | 5 209 0 @3, § B o owam oo 4 8 e
the nist™ by becoming the emplovee of the cisren 2es 4 B serm oE = o
month. What is the meaning of the 1))
underlined idiom? wf, zfive woay) o) |
ap A person is liked by everybody I
s ooz 4 B eey A
b) A person is dishiked by everybody
c]ﬁl:mp]qm "H"f?‘l‘ﬁ*j:l' +..‘|]-‘|-1-:!
d) A lender ans. B =26 -\~ ";
$: “A cuckoo in the nest” 01 &5 Phrase T Peri %
W A O W WA 4N S (TS TS eage (Y
=D W . = R0%, by what percent Is x larger
AT wds T v w4 wewr = \ than 2
PRS00 TP (TR X A %) 5% D) 16%
) €) 25% dy 80% ans. B
i1 lf“’ meaning of the phrase, 2t - §: o0 T W O, x = 80% M o £ WECE x
a) To see signs of plague ep S oot w9
b} To get bad smell § o dead T ST0E, x = RO
¢) To suspect g PRI . .
d) To be i ans. C ¥ 10075
$: o Phruse T ¢ 0E | - =15 =12 % 100 = 64%
el wE4a, o 01 58T ¢ TG T
Sentence Correcifon = (80 - 64)% = 16%
12 Choose the correct sentence: _ Average
a} If1 find a bag in the street, | toke it 1o the
police. 35, The average wage of a worker during a
b) If1 find a bag in the street, | took it to the fortaight comprising 15 consecutive
police. working days was Taka 90 per day. Doring
¢} If 1 find a bag in the street, | will ke it the first 7 days, his average wage was Taka
1o the police. 87 per day and ihe average wage during
d) 171 find a bag in the street, | had to take it the last 7 davs was Taka 92 per day, What
to the police. ans. C was his wage on the Sth day?
§:  Conditional sentence 4 If clause @ o =ebz a) Taka 83 b) Taka 90
oM wiow WOl wgaef A arem If c) Taka 32 d)Taka 97  ans. D
clouse &% Verb B Present tense @ emyfre | S0 07 9 W0 06, 15 S0 dwu SiEe T

e Main clouse @3 Verb & Fulure tense @
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87 B = aae oo 7 Fe o e gl fim
92 5rel wea | wEw FitA ow wul v ey

15 Fiore o Wl = 15 = 90 = 1,350

o 7 e + o 7 e oG T

={7 = &T) + (92 = T) B

= 609 + 644 = 1,251 5
weaw, gt few T o
=1,350 - 1,253 = 97 Brm

Word Proflem
A man’s regular pay is Taka 30 per hour
up to 40 hours, Overtime Is twice ithe
payment for regular time. IT he was pald
Takn 1680, how many hours overtime did
he work?
a) 8 b) 16
€} 28 ) 48 ans. A
e W A U, SIS 2w 4() W vl v
&fs =gl “mu 30 U TR 1 Oventime & &1 w0
&5 fed =l (2 = 30) = 60 5= @ W &
1,680 Tr® =gd o wE WG Owerti
wafeny

36,

I.!ﬂ-ﬂl + Gl = |,680
p= |LGRD — | 200 =480

=
=

4, Overtime =EfE © 9B @
SATE, (30 x 40) + (30 2 2 Hggﬁlﬂ'

gth of a rectangle is twice than that
of its breadih, I the leagth of the rectangle
is Inereased by 10%, while Its breadth is
deereased by 10% what is the percentage

change in the perimeter?
W) 33% B)35%
c)d% d) No chonge ans. A

1]

aTe] ) T, W STTEreTE o 49 fen
ol 10% WEA EM oMy fY 0% W
wren | vifafi e fs ofrme wferds w=
ufa, wmrsTeTE 2y 50 fitm

wae ol 100 fJoR

wEgq, wreTesa wfEi

= 2(100 + 50) = 2 = 150 = 300 fifim
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10%, FF6Ts WrETER oY T
= 50 - 50 97 [0% = (511‘50“'”
= 50 - § = 45 fiore

&4 | 0% Fiere Wt nd =
= 100 + 100 9% 10%

-(nmﬂ“‘.’ﬂ"‘]"’jn 100 + 10 = | 10 fiER
WITETHLNT 7 S

= 2110 +45) =2 x 155 = 310 &om
wagm, wfffam s s w

= (M:. 100) %
@\.

Joey
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Wi,

i8

g ul i

Ac
can

mplete a praject in 20 days and B
1®the same project in 30 days.
start working on the project

her and A quits 10 days before the
nject is expected to be completed. How
many duys in tofal will the project take (o
complete?
a) 16 diys b) 18 days
) 23 doys d) 27 days ans. B
e e wm o, A 9P w20 M am B &
wefd 30 fie wwce o A 9 B g=m 2
Frofl o = A el onow=w 10 R o
=l cors o wwle o e s e Ay
o, =il o wEre il v R s A
A8 W (x - 10) 7

&5, A wEn | e e = E“”

Airrwl'l‘-u—m]ﬁmm=imq
mamﬂlﬁmmriﬁmﬂ
meﬁﬁm=%um
[orogs B el e wm|
- 10 x
s, S+ 35 = |
A= 30 + 2y
AR
S - 30 = 60
5_‘[:5{'+Jﬂ=
L 11]
.r='§'=IE



=18

waaa, ofe cefor framrgm we

wfie w0 18 M o s =5F'31::| 4770
Waord Problem Rasio
39. Halim purchased brand A pen for Taka 2000 | 47, Find the ratio of purchase price to scll
each and brand B pen for Taks 160 cach. If price if there is loss of 12.5 %%,
he purchased a total of 8 of these pens for @78 b)8:7
Taka 1,200, how many pens of brand A did €}2:23 d)25:2 ans. B
he purchase? Fe o =W oomE o, oW 5 fem 12.5% wiE
up 3 by 4 = T o FRarmeTe waers
€h 5 dj i ans. B 100 B/ oo T 12.5% wiete faowgm
S o I o, T A 3ntse e afE fe = |00-12.5= 8750
200 Bre1 32 @@ B FMEE W «fE e 160 T, T § o = I 875 =817
b am w1 1,200 5T R s 8 B lI’-SW'ET‘Tm!e
=n fam | A TR =ve o weoom ferateny
wf, & A Zmosa x5 = Fewieom Gieam ngle)
At Bm - {H 1 xj m Ty ﬁm‘ i -‘2- H“d i arca r'“_h‘l Jlllgll'.'d. ll‘lnng[e
78, 200c + 1008 ~x) = 1,200 b e i
= 200+ 800 - 10y = 1,200 dj 48 s e ans. A
= 100x=400 \ e @t G Som = 5 e wr
. X=4 ‘a‘ o, ! figem #¥ x om
wefie (1 TS e 47 v faen frantsrareTa FarpE, o + 8 = 107
= X +64=100
F"mﬁnl:f.n = = [00—64=136
0. Ahad buys 8 rll Dperkg | = r=+T6=+6"=6
and 40 kg ri 50 per kg, At what . x=bhem,
Taka per kg should W 6 oot
r“';;'ﬂ';“"“ ol e i, G (eI = L g x TwE
d) 49.2 ans. C Fﬁ}=GwHa h}mr:= 24 em’.
X: e oo w0, e 40 s v 80 o=fa R

e, 50 Bran wa 40 osfa s fagm = B wm
= Fan e e B (0 S EE

RO i fm e = 80 x 40 = 3,200 b
40 cofo sTOMR T = 40 « 50 = 2,000 5w
ffer @ vm amm w@ ol w7s ™

= 3,200 + 2,000 = 5,200 5r i

5l @ e oo ofne = 80 + 40 =
avF, | 0% wTes oRrB fazmrge
=35.200 + 5200 92 10%

200 = |
-(ﬂﬂna— 100 ot

= 5,200 + 5§20 = 5,720 brm

120 cefln
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Shorteur: TRERITE Triplet (6, 8, 10)
T B, W = B = 6

CwT = L 8 x 6= 24

Age

43 A ls two yvears older than B wha Is twice as
ald as C. IF the tofal age of A, B and C is
27, then how old is BY
a)7 b) 8
)9 dj 10 ans, D

e o0 T A, B 90 BTS2 TR AR | B 9w
I EEE O 29 o el AL B 9 C 43
G TN 27 T A B 49 W e



o, C 08 T ¢ T B S T 2y M 9 A
A% T (2 + 2) TR
HYNTE, x+ 2+ 2x+ 2= 27
Sx=125

xm§
W, R TH =2xs=

Speed
A person crosses a 600 meters long street in
5 minutes. What is his speed in kilometers
per hour?
a) 3.6 by 7.2
c) 84 dy 10 ans. B
=re A e o, O e 600 b aafl e
15 ol wfeos =  wm wferam w2
5 fufed wieamw =0 = 600 e
1 9% = 60 fafnd wfeas oo

=S 26D _ 7 200 b = 7.2 Favmiore

10 T& )

£,

L. L finde = igids

Sharteiir: &= T " 5 x 60

=7 1?“ kintfs = 7.2 kel

45 For what value af *&

equations dx + dy = 12 a

ans, C
kR TR WO B 3y o+

x + 12 = 30 92 &F Unige

wfa, TR W T ax + by = ¢

aqt gy + ey =1,
e P o Unique FRIEE € W 6

a=3 b= d=kdA o= 2
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wagy, WA WO Unique F=INM ot =
o k- Gu

Shorsent: Unique solution 1 €7 =< €01 Line
A Parallel ©a wie w107 Slope HEH 104 |

= wie, urvm'=:'~ﬂiSInp¢= -
o8 e, -

12
~--T..A---9

Algebra (Frooffis)

i, I one of the roots of the quadratic equation
&+ mx+ 24 =0 s 1S, then what is the value

ol wil
a)-22.5 bl
¢)— 105 de ans. B
5 = w o X + 24 = O Fmms
Lﬂﬂfﬁ m =7
= Evfts Ahemt e
m+"4 ﬂ
|.5m=-24
i = = 26,25
"rﬁ ‘r-t
== |T,5
Alternative; Formola: SFEEE QTR = - E:
.
PITCUR o = =,

= W W O, g+ bt o=10
WA =, TN L5 Sw s
AT, ti+-=--m
dit | Se=2

wiirwRe (i) W TS -rr!.:=‘—_4q= 16

e wilrRd (i) =t @ - @R W
-m=16+15=175 ".m=

=175

Nunher Concept

A number when divided by a divisor leaves
a remainder of 24, When twice the original
number is divided by the same divisor, the
remainder is 11, What is the value of the
divisor?

a) 13 b) 35

c) 37 d) 59 ans. C
oo AW T G, 40 ACs T s o
M T T TR SO WiE 24, & A

47

5:



fiers & 4% wwe fon = A =
“TE | |, TS TE?

g *TETTAE WTHE o, S 24 WM w5
a¥w, Aumhee fod w2 sem s fod o,
e S M TR =24 x 2 =48

i Lo e s Bt

weaE, SeE A =48 — || =37

Unitary Method

48 10 cans cappht 10 rats in 10 seconids. How
many cats are requited to catch 100 rats in

11 seconds?
a) 10 by 20
c) 50 d) 100 ans. A

S: e @ owms, (0 B fewm o0 B T 10
TS W3 | 100 cers 100 B T wre el

forgm oy
<01 1Q type &% | areTn ew g Fgmen

100100 _
M= Troxip- 1OF

bielow? A

Greometry { Trinngle) \
49 How many trinngles nre theru*

<

b) 11

d) 13 ans. C
ABFWAEF, BCF, DEF, CDF, ACF, ADF,
ACE, ABD, BCD, CDE, ACD =12

5

Ratio

a) 588 apples b 600 apples

c) 672 apples d) 700 apples  ans., D
S: o am I A, goeW o faoeee el Ry

=em oM @ 400 wem g =0 fare gwm

= fmb 420 B wrem =mw | gww o fed

==l wirem ey

A0 TEam wam A1 ST G0% WITwE |

= e =l |00 W]
SUETE, WLHEE 400 = 420

T 100% =—"1“;,'m= 700 |

Percentuge

#2. What pereentage gf n
has | or @ in theg@ni i
a) 1% bY 14%

c) 20 d) 21%% ans, C
) w70 e NemeER W
ST TR | S O e
70 *rfE TS | 99 O WS 459
FTuTET] T

LS, 11,19, 20,29, 31, 39, 41, 49, 51, 39, 61,
69= 141

fefu wreeam vy = %: In:i}'!-a=2ﬂ‘}i

Prahahility

0 MMA:B=3:4, C:HB=5:4,C:D=10:9,
then A B : Dbz

aB:E:9:10 E:6:10:9
cyb: B 10:9 difi:8:9;: 10 ans. C
X AH=):4=5H_8 B:C=4;5=H.]0

C:D= 10 9= 10:9 ArB:C:D=6:R:10:9

Percentage (%)

Sl A Truit seller had some apples. He suld
40% upples and still has 420 apples lefi.
Originally he had:
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F4. A bag contains 2 red, 3 green, and 2 blue
balls. IT iwo balls are drawn ot random,

what is the probability that none of the
balls drawn is blue?

I!]%

c]% :II% ans. A

5 oAmmgm o anh o 2B em, 3B wge
a2 15 Sim o v Teese o ™ oo
T o SO A S TR SR S
AEaM=24+34+2=7M

CETe T
wrm, T 5 0w e ot = (Fm )

x4
Sy = = | () ST LT YT o

5
R A |




Sihwy = o) =R R 7',-?
Kerfex
4. 17 a series looks like 1, 1.5, 1.5, 4, .., then
which of the following comes next in the
sequeice?
aps b 6
c) 6.5 dj 7 ans. C
S: o W oW 1, 1S, 2.5, 4, e, ¥R
*EE] ey Ty
WO (T AT = WITR 06 HYEnR
1+1.8=25[25+15=4 |[4+25=65
Kev
35 In a group of 60 people, 27 people like
Cocn Cola and 42 people like Pepsi Cola,
Each person likes at least one of the two
drinks. How many of these people like both
Cocan Cola and Pepsi Cola?
a7 by 9
cyll dy 13 ans. B
5 o W omE o, 60 W g% wm 27
GRS, 42 W (R e @
NS (AT Gl AEN I
55 liem-B oW STy
Total = Coca cola + Pt:;m
= 60 =27+ 42 - Both
=>
=

5

0 ¥
a)y=x byy=-1
chy= lix d)p=—x ans, C
e x ey o fedresie ool 1w

EY ¥ (+, +) Co-ordinate ¥ YA WATE,
wE W woerd T | WeEOOTR Nt 9y
Wy o= |y e oF wd wad wwm a o8
=5

Shortcut: Curve WA 29 | 0 q), h) &9 o) 02
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38,

5:

&l

2.

5

fe=te weecawm witens o am ) off oo
Eaa o),
The Great Barrier Heef is located in:

u) Australin by China
¢) Sri Lankn d) South Afrcaans. A

wEGiE FEWTE W e JEEs m
216 The Great Barrier Reef =afee

When was Value Added Tax (VAT)
introduced in Bangladesh?
a) 1991 by 1992
¢} 1993 d) 1994
= O R eSS
e e oo 7 e
4, EETT W LA 3,
AT oA
VAT =% v

111

i#y of Dhaks, when was it

ans. A
50 %
L1-pap
VAT a=fi
wEEEY
T AT A

-

d) 2006 ans. B
mmmﬁmmmwﬂhﬂmmum
oo W e WM off oo wmm R
MWM|MWBM|
Brgrar, TR oTTETS 38C+ WOR Shtes M
T 20 W

When was the process of demutoalization
staried in stock exchanges of Bangladesh?
4) 2013 b) 2014

c) 2015 o) 2009 ans. A
Which of the following was declared as the
International Year of Micro credit by the
United Nations?

a) 2003 b} 2005
¢} 2007 d) 2009 arns. B
R s ey Inek
i TEAF A E3 L] WU T,
#reers = o wiaol emmfafam ol
Who was the first povernor of the

Bangladesh Bank?

a) A M. M. Hamidullah

b} Lutfar Rabimun Sarkar

¢) Khorshed Alam

d) M. Nurul Islam ans. A
MM AN 29N Tem W oA 4 a5
wiiaee | fef sv.0b.5803 T8 Sw.35.5%48
M WE 4% AT W e | WE EEm



5:

5z

0,

5:

i,

&z

67,

| a8, Which national foothall team ranks [(irst

yyEx Wl T TERM =T (2o.00.30%h
ooz e ) wifiry e e

Bangladesh adopted flouting exchange rate
system of foreign exchange on:

a) March 30, 2003 b)) April 30, 2003

¢} May 30, 2003 d) June 30, 2003 ans, C
Floating exchange mte ¥ 5@ spmm fafamm
N avE e e wifdn e areme
cehin e orie g o faoe) qEw Rl
R R wm om A 9B 3R Demand €
Supply wwiE Fdfre & atwma cedin =
Money market & GFTR] 4RI FE0HS TR A |
Electric bulb filament is made of:

a) Copper b) Aluminum

¢) Zine d) Tungsten ans. D
Tungsten ¥g2 CNeR ¥R @, ©E wE
IEe ¥2 @ | Tungsten 5% Ww=TNe
o i wEEm e | 0T Tungsten 97 TER
e @ @ M m ) S e o
femetfliee @ o Sem @

Tagw wiom e =2

\
Entomology is the science that stu In@
ior

a) seientific terms bl hwman
¢} rock formation d) ins
Petrology

| 3»98 T 200 afmm afzm
fame s o fom «ffe Soffmen
HEHA WG | (D STEAIER Snd TR WA |

In Bongladesh, what is the contribution of

agriculture and forestry sector in 2015
2006 GIDT at constant prices?

a)9.7% b) 11.7%
c) 13.7% dy 15.7% ans. B
GDP oz wifds wresgres wawE
T O (R
FrT L] FrS L ]
why KT i8.in 3260
fee 2283 2243 o8 38
ol [ [TET] [TE)
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aceording 1o the latest FIFA ranking?

7L

7L

2

i,

a) Argentina b) Bral

¢} Germany dj Portugal  ans, C
6% Ramnoth Kovind is the _ President of

India.

a) 12° b) 13*

¢) 14™ dy 15* ans. C
5: 2o weE saww ailefE feo Pl serm om

fefar fagioan Trevee oW CATS ST BTEE |
Zfvfe =@ g TR 4% e TenR
BET | 3¢ T i0da T feR wmrem

e witg o ane w

controls  the of the
compuler system pmtlﬂu Hsers
the means to in hie computer.

lh:rl.'rmlr

Crating system ans. D
peflating system S0 495 &% Software 4
FE0me o0 Tew FEEe s g W
Scheduling, Debuging, Input /Cutpu Frmgst,
Accounting, Compilation, Storage,
Assignment, Data managemenl @3t WS
T A

Photo-cditing,  word-processing,  and
spreadshect are examples of which of the
following?

a) Platform Software

b} System Software

¢} Operating Software

d) Application Software ans, D
TR WO AWM W ARSI
Application  software M| oWE T
wbemm, uEhl R swlenn,
CERTCT WTTRRAT WG emR (ORACLE, Corel,
Paradox, File maker Pro) fefen werm afirm
IMESWE (Adobe Photoshop, core DRAW)
T = Application software,

Which function key is used io check
spellings in Microselt Word?

a) <F2= b} <F5=

¢)=<F7= d)<Fl 1> ans., C



73

7.

&:

L] T wim gramE W
F2 | @ File 31 Folder @@ a0 sfads
(Rename) 8T8
- §:
F5 | 4% MS Word @ Find, Replace, Go to
BT o0 W STEE (0 G Page
faaps, MewR TS TES cneEe || O
% =
F7 | MS Word @ 074 2 @ 57 #120 |
=l Shift+F7 oo ST sumd
e e o afees, Redis s, 77
wrwg e Tenfe o Dictonary 59
o
Fll | comsie =t 2808 wWiers (ie0s a3
wTEfTs STEN TEE $:
What is Ubuntu?
a) A malware b) An operating system i

dj A firmware
ans. B

wfRETl A Operating system 08 F‘EEEI:"I

N = A

%, Open Source Operating System

%, Closed Source or Proprictary

System,

Open Source E}pmtmg Sy

Operating System oA

¢b An application program

fmmen Aure = e

5TE T ST, -rﬁrﬂ'li ti]'lﬁ'r
=0 fate g o freea
s Linux {Ubuntu, Debian,

r, Suse etc) Open Solaries,
in, Plan 9 %=0f |

A webpage s identifled by:

a) HTTP b) URL

o) I d) TCP ans. B
HTTP: 3R o (aieEm =i o 593
e GUS W EWE W, TS hip T
hyper text transfer protocol 39 GET &3
POST hip w50 2 TEs =

URL: @A oA (S oweda =arE ama
Fitem <n fm R == feE @ URL
o erweny gws f | ofedire ow aw
o= amm m ame ) ofel URL @ oo
eWE AiTeN, et WETER WTN, ATETE
e/ T =79 L4 himl WEOT W7 |

75 What is the shorteut key for Page Break in
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v

&

&,

27

Microsolt Ward?

a) Curl+Return b) Cirl+P

¢) Curl+Page Down  d) At ans. Note
ME Word € Page break ¥97E Corl + Emer
R S T

The process of a computer receiving
information from a server on the Internet
is known as:

a) Uplonding b) Pushing

) Downloading d) Transferring ans. C
In Microsoft Word, which command is
wsed to search for o word?

a) Cirl + 5 b) Ciri@F

¢l Cirl + R d ans. B
Cirl + 5 = Docum ; jirl + F = Find;
Cirl + R = AligormNgt W#hi; Cirl + A =
Document Select TEAEE W

In ows Operating  Syatem.  which
kv sli®rtcut is used to close any

| + Al + Delet b)) Ctrl + F4

d) <Esc> ans, C
Esc = #oeifem wars am ol o6 T4 51 )
Crrl + F4 = Windows 9% 5328 O] 90958 5 |
Alt + F4 = @ (5F Program % =208 468
W Cirl + Al + Delet = Shut down, Lock,
Reboot Fenfea #mw =wm o arawe w@)

In Microsoft PowerPoint, which commiamd
Is used 1o go directly into slideshow?

a) <F7= b) <F5>

c) Ale+Fd d) <Es¢> ans. B
tEhEE Slide *FOER om = W aiem
=] Slide show — View show click =TS 304 )
qu® Keyboord OFF F5 key W9 Slide
e T SEW MS emm WO WEe
Slide Tefin mfes wmafe @ Cul + M".

In Microsofi Excel, data presented in rows
are eonverted into columns using which af

the following options:
a) Transpose b} Values
) Inverse d} Align ars, A



Janata Bank Litd.

Recrultment Test for AEQ - 2020
Total Marks: 200; Time: 120 Minwtes; Examination Held On: 10,01.2020

Eqmﬂfnn

0. Wx+=12; find the value of x'7 + 1y =2

Ciiven that, x + %= 2
Pl |

r -..I
,1.'!+ 1=2¥
r-2t+1=0
F-2xxxl+1¥=0
(x=1¥=0
x=1=+f0=0

L |

oSS0 T S

it I 17 I
The value of x ' ten= |l +Teml +3=1

+1=2

x" rrlru=1[hnsn~|.=ri. \
Speed

fi2, Im u Might of 600km, an a

slowed down due to e .

average speed for the I:%s reduced

by 200km/hr ong the ¢ of Might
\ ngtes. The duration

alfvan  Bank Ll (SECH
gL Chiestion mo 1,

Work & Thine

i, P does o work in 12 days for § hours and
does n work in & days for 10 hours, IT both
waork for 8 hours then how many days it
needed to complete the work?

$: Tt g wil =m wim = poosh e w12
A e Q Tl 10 W = s W e
8 e =t = gem Wi § W S e
TR T FACH WO OTH AT
P can do the complete work
= |2 % B = 96 hours.

() can do the complete work in
=§ = |0 = 8 hours.
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In | hour P can do 5 L pan af the work

and In | howr Q con :Iu 7o part of the work

(P + Q) can do in 1 hour
I I 5+6_ 11
96 T 30" 380 — gag Pant of the work
(P <+ Q) can do in & hour
Hull 11

_ oo part ul'iht.: wur

m p:.rl of the wo

I ar complete pu$ﬂc in = ﬂ1= 'Is—duy'.
®  Series

X and Y started working for a
in  company at  similar  jobs on
anvary 1, 1950, X asked Tor an initial
salary af B, 300 with an annual incremont
of Rs. 30, ¥ asked for an initial salary of
Hs. 200 with a rise of Hs. 15 every six
months, Assume that the arrangements
remained unaltered till December 31, 1959,
Salary Is paid on the last day of the month.
What is the toial aomount paid o them as
salary during the period?
X 47t Y qEEW (T 1950 AR | wewmhs

G @S W o e | X T

30 b Sefee® wmm 300 b wfe fiers
sl o o) Y ofe w15 T
s w@ 200 S wis e Wil o
=0 | 1959 o 31 fepne oy T
=01 | e T b % b ooy
Imitial annual salary of X = 12 = 300 = 3,600
Tk.

Annual increment of X = 12 = 30 = 360 Tk.
Total salary of X for 10 years will be found
using arithmetic progression,

with imitial values 3,600 Tk, and differénce

360 Tk, for 10 years,
a0, here = 10; a = 3,600; o = 360

Total silary of X =5 {20 + (n — 1)}



=3 {(2 % 3,600) + (10 - 1)360]

= 5{7,200 + (9 = 360)

= 5(7.200 + 3.240) = 5 = 10440 = 52 208 Th.
Initial halFyearly salary of Y

=6 = 200 =1,200 Tk.

and half-yearly salary of ¥ = 15 = 6 = 90 Tk,

5.

U

Creametry {Rectangilar)

6, A fwrmer wishes o start o 100 sg.m

rectangular vegetable parden. Since he has
only 30m barbed wire, he fences three sides
of the garden letting his house compound
wall act as the Tourth side fencing. The
dimension of the garden s

Tﬂtﬂ] Eﬂlﬂl‘}' l.'l‘r ? rll' !ﬂ y:m Or Zﬂl h.ulf. .'I." m =i Lm mﬂ m m 'm‘nq
vearly period will be found using arithimetic . I‘FFH foad wm 30 RoTER e W
progression. with initial value Tk. 1,200 and
difference Tk, 90 for 20 half-year period. ¥md o 3 ity fm Foe o P @ e
S0, here i = 20; a = 1,200; d = 90 iy “I“':"': I I_"F'h"*“* v, a7y =
Let, 1 1 arden 15 41
Total salary of ¥ =2 {2a + (1 ~ 1)d} SR B © il
20 g Width of the garden s ——

r T 12 1,200) +(20 - 1)20} According 1o questi
= 10{2,400 + {19 x 90) = 10{2,400 + 1,710) LS|
=10 = 4,110 =41,100 Tk 100 ) 100
Total salary paid to X and ¥ Or, === . 30 .. (i)
= 52200 + 41,100 =93 300 Tk. (Answer) Sustion (0

Interest +x=130
A sum of taka 725 is lent in the beginnin + 100 + =30
of a year at a certain rate af intm:st |
B months, a sum of Tk, 362.50 = 2¢' + 100 = 30x
but at the rate twice the forme = 27 -+ 100=0
of the year, Tk. 33.50 is tru.t = 2= 15x+50)=0
from both the loans, WhaRgasgihe original | — © 5,4+ 30=0
rate of interest? = {r=10)(x=5)=

gl Rl o0 W@ o | - Either v = 10
2.50 B HTR o T Now, il length = 10 meter

ﬁﬂmmhﬂ-

Let, real e of imerest %
Mew mte of interest (2%
According 1o the question

e =33.50
H2175 +725) = 10050
r=3.46

Real mte of interest 15 3.46%
B (6, P AR WA | TEEE W] 8 WER

W‘#E‘I’ﬂ-‘l-mm%mﬂmmﬂﬂ
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Then Idth-'—“—m- 1 meter

Or,x=35
Or, if length = 5 meter

Then width = %= 20 meter

Unitary Method

[ A

Repear: Soint Recrvitment Test for 2

5.

Three pipes A, B and C can fill a tank in 6
howrs. After working at it together for 2
hioiirs, C s closed and A and B can Gl the
remaining part in 7 hours. How many
howrs will take © alone to 0 the tank?
Banks
(M fieer) 26.00.2008; Crestion w03,

Focus writing in Bangla: 2% =f% 7%
|
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woefEn daho VR Fw | N Yooo AMOMR W
s e v ofel oot o% wyy e
TG AEE AMEE WIOE | LR (U
MW A, WIE B A Sy aa
oW wefred T o O avEem Y e
efen TAER WE WWEEE AR T T
zu e =0 wm w1 Etm s e
BUEE 303 49 @ 1Y A AW 3R TR-%
SEmEy e 4% e 4% v i
wrde o, feore-Fre, Money transfer 718
oy =l 4% EEtm s mam g =
ga U | TR T Um o wrs qgrde wee v
anefer, W WAl e oi-fapfe wh
B Ry A TN (0 FE qF g0 W
) FEACEG W W N | QN (B A @6
saia-coeraaa feen Sl anee Wk o =
e wife, Fom warend femn ww
TARYER AR TN OE e (TS
o B =g Fow oon wm o anefa
@he &R Collapse T T Tree
Eiteaiz e Bine L koo g

SR M 0 Traditional b
wm fen <% =u afen
Traditional banking system

Y & anfasrEr gAnEEe
aifzm Fome aEom oem FEEesE
ANE T, OTE TSR AHRe AR |

wegfe awll srem v foore o, T an
HIMTR 49 TEE G 90 (HG T (FATA G5
T oMM (D W o S e
FEE WA aso (Wl WEm @ ewrE
u | o] e AE B SER I 6
e o TEAE Transaction 09 | 2000 HIHE
wm vwifg gy v i @ 2000, WiR
sufen e qfee wme wmM MG R S
M Fwwsl (Efficiency) Mettme @fn
7% e BIBM (Bangladesh Institute of

R

L

5:

Bank Management) %% wfisiee el g=
AT S WA UMW U, W ayfeATTE WE g%
Bre Refom = e e @ Yes TR
A BesmwEieEl (Productivity) TEE W@
fe v ofe wrdte = wits o o® T
fafui s &1 av S e Seemem o
A

FEAA Online fofes Ty orm fem, amb
fean are® amdee o = e an weinrem
awma e af orem «fowEm T ayiee
fFropet AR | oA ST S S TN
a¥F Online Tmefer g Frdrfim wru
5T | ofed A =TE
ois Fim e orE, 4% w6
ot Wk a1 wga Tow | fafe
Softwg compan® s TefigE R
Soft GOy, W o e P s

&9 IR T e

T A% W S e |

o iR AT W W
e w2 v 2 omm e o, el
AeefE wam amfer otz wh mem g WA
g ffer =rem fires | Mo e B
Fm wiEfh T 96 ATM card
wiftmfe, Mobile Banking 42 Wy wie
adfim Tef wBetmes ey wE Cyber
threat i wrofie = o = g%
TGN AEETE W AR Server 9OMICS
wiga el ware W O 1T specialist o4
e WM Firs W | 99§ Online money
transfer Tz Wfes =wefee =1 cofm
e ey o wedE WS WA | WE
wElay AfEEe = AN oy e
T WA e Aite T ayfen aee
T WE TS TR |

Focus writing in English: Role Banking in
rural development.

The Banking Sector has for centuries now
formed one of the pillars of ecconomic
prosperity, Indeed history provides us with
some  storting  information  regarding  how
banks provided finonce for  imperialist
ventures in newly sequired colonies, Owver
time honks have formed an important pan in



providing an avenue for both savings amd
investments.

Lund, Labor, capital and entrepreneurs are the
basic  economic  resources  available 1o
business. However, to make the use of these
resources, a busingss requires  finance o
purchase of the land, hire labor, pay for
capilal poods and pay for individuals with
specinlized skills,

Detail role of commercial banks in
econamic development bs given below:

Trade Development: The commercinl banks
provide capital, lechnical nssistance and other
facilitics 16 businessmen sccording to their
nead, which leads 1o development in trade.

Agriculture Development: Commercial banks
finance the most imporant sector of the
developing ecomomy le. agriculiure, shor,
medium and long-term loans are provided for
the purchase of seeds and fertilizer, installotion
of tube wells, construction of warchouses
purchase of troctor and thresher ete.

Industrial

Malaysia, Taiwan, Hong K d Indonesia
ed their industnial sector
wiil banks,

have recently devgl
with the help

¢ Commercial banks help
the rate of capital formation in o
Ngapitul formation means increase in
ol production units, technology, plant
and machinery. They finance the projecis
responsible for increasing the rate of capital
formation,

Development of Foreign Trade:
Commercinl banks help the maders of two
different countries 1o undertake business,
Letter of credin is issued by the importer’s
bank to the exporters o ensure the payment.
The banks also armange {oreign exchange,

Transfer of Money: Commoercial banks
provide the facility of ransferring funds from
one pluce to wnother which leads to the
growth of trade.
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Development: The nu@
which concentrated on indusiglal
rapid economic dﬁ'lﬂﬂﬁﬁ%ﬂu 1 Korea,

3

More Production: A pood banking system
ensures more production in all sectors of the
cconomy, [t moreases  the  production
capabilities of the economy by strengthening
capital structure and division of labor

Development of Transpori: The commercial
banks financed the transport sector. It has
reduced unemployment on one  hand  and
increased the transport facility on the other
hand. Hemote areas are linked o main
markets through developed transpon system,

Sale Custody: The busi
individuals can make the
by depositing thiir su
The banks nlso 1

concerns and
tension free
¢ in hanks,
the facility of

Ine in ®Saving: Commercial banks

people o save more. Dilferent

g schemes with attractive inferest mitcs

introduced for this purpose, Number of

bank brunches is opened in urban and rurml
areas.

Construction of Houses: Commercial banks
provide credit facilities to their customers for
the purchase o construction of houses.

Assistanee o Government: By providing
funds 1w government  for  developmen
progmms, the commercial boanks share the
government for econamic stability,

Increase in Employment: A couniry's
economic  prosperity  depends  on the
development of trade, commerce industry,
agriculure, transport and communication ele.
These sectors are financed by the commercial
banks and employment opportunities ore
INCTEASINE.

Saving in Metallic Reserve: Cheques and
drafts ¢ic works like money. In this way the
need of precious metals 1o make coins
reduces and metallic reserve of the country
can be utilized on other imporiant matters,

Credit Creation: Commercial  banks are
called the factories of eredit. They advance
much more than whot the collect from people



in the form of deposits, Through the process
of credit creation, commercial banks provide
finanee 1o all sectors of the economy thus
making them more developed than before.

Proper use of Money: People deposit their
saving in the banks, so the scattered money
becomes a huge amount in the way, which can
b used for different projects in & proper way.,

Financial Adviees: Commaercial banks also
give useful finoncinl advices to promote the
husiness of their cusiomers, besides credit
facilities,

Inerease in Investment: Commercial banks
mobilize savings of the people, They make
them available 10 the farmers, traders and
industrinlists  for  the development of
agriculture, trade and industry,

Success of Monetary Policy: Under the
supervision of central bank, all scheduled

commercial banks make effort for the suce
and ohjectives of monctary  policy. (K

Joined effort of commercial banks ma
economic development possible.

Use of Modern Techno se of
moderm  technology  in eveloped
countries is only ihle in presence of
developed com | banking as it can he

i funds, These funds
the impot of modem
developed countries.
omaotion Cells: In order 10 boost
s of the country, the banks hive
esinblished expont promotion cells for the
information and guidnnce 1o the exporters.
Economic Prosperity: Economic prosperity of
a country depends on number of factors
including the development of commercinl
bhanking. A sound banking system promotes
the economie status of the people by providing
them short, medium and long-term loans.
Training Center:  Commercial  banks
cstablished mony tmding centers for their
employees o modemnize the banking system
of a country. In this way the banking experts
enhance their abilities and contribute towards
the development of country.
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i, Application Writing:  Relief for evelone

§:

affected people.
17.01.2019

To

Deputy Commissioner
Sakhira.

Subject; Application for reliel goods [or
cyclone affected peaple.

Dear Sir,

With due respect | want w0 dw your kind
attention 1o the inhabitants of our locality.
The people of our locality been affected

by the recently devastmng C . The orea
15 under water for d it’s likely to
continue for somemog . A large number

of e hove aMecied. Some of them
have their housts and have taken shelier
on wwve no food to eat, Moreover,

¢ diarthoea, dysentery, fever,

ve broken out. The children and the
re the worst sufferers,

Under these circumstances, we request yon to
come up with medicine, food, ete. for the
affected people and oblige us thereby,

Miamaot Ullah
On behalfof the people of Satkhim.
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Recruliment Test for Data Entry/ Control Operator (IT) - 2020
Total Marks: 200; Time: 120 Minutes; Examination Held Cn: 07.02.2020

PART ONE: Multiple Choice Questions (MCQ)
al, Frsn o=l o 999 T8

a) Trewia b) wfefi

¢) e d) =rirsie
Hiibie g7 o% TAW e AieE |

ST A R T AT ey
4) FivmE b) Bt

c) T d) e ans. C
it WWTR WO W e TR
ol men U FNE TV T, SR W
wejoron A ez 2w | cr o TR G
@ W = Mo e s T =
T | e 4 W W O ST =
el | g w5 (o) ol m o SR
WSS | G YA Eh g e
TSN TUH AR 4TE mﬂwu
TR T (AT e &5
wie wrn e sl e
ﬂl&luﬁmml

ans. Iy

2.

i,

(svrtrq), fomrses (Swnd), 28 (3nde), TTe
(Snss), WFERTEA (yh3a), foagmmm we (daas),
TEEEAT (aad), TOEW O (snod), TREAR

(smo¥), =miTE (dnon), TEWE (3»33)
T T, AT (wed) W THEEM
T Gl W )

*Dialect’ % Mo e b
) WA ) Bma

) SerEmn oy Faera
The correct spelling Is

a) Examplary b) Exemplary
¢) Exemple d) Exsmmplery ans. B
ExuntpTry r-rmﬁ#ﬂw: qmgql:::}
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5.

ans. C
i,

5:

07, The lecture will be held right ____ the tutorial,

a) at b) befone
¢ over i) beyond ans. B
S:  Before something =9 o fagz wmny
TR wh BIGhwom s W e
wfs T
8. What is the singular form of the word
*alamni’?
a) alumnus b} nluﬁ
¢} aluminum d s, A
5 Alumnus =4 %9, 2w A

¢ opposit® meaning of the word
PARENT",
RJ: b) Opaque
d) Explicit ans. B

WITATSTEAT: T Manifest
i Opaque
wiefacaies: =TS Apparent b i
e | Explicit - (oo feeme Tepfs s
wfawmens g fevplone gwfre; W

Fill with the correct form: He is taller
v,

a) of b of the

) among d} on ans. B
HTE Comparative Degree <8 4 ‘the” 304
M few v qEwe e @ aww g geh
Fd W T T Comparative Degree 28
ot *the” <@t #F “of” T | 991 Faidh is the
older of the two brothers.

e wdy 1 GEETEE W A

Which technology has made possible 1o
pinpoint precision to the optical storage?

a) Optical fibers b} Elecironic guns

¢} Mapgnetic heads  d) Laser beams ans. [
How mony generations are available for
USH specifications?

a) One b} Two

¢) Three d} Four ans. D
In Nowchart what does below  symibiol
represent?

1o,

I

12

13,

13



1) Documient b} Dratnbose
¢} Terminal dj Process ans. B
1. ARPANET stands for
a) Advanced Rescarch Project Automatic
Metwork
b)  Advanced Research Programmed Auto
Metwork
€} Advanced Research Projecis Agency
Metwork
d)  Advanced Research Project Authorized
Metwork ans. C
§: ARPANET <8 +fss =M Advanced
Rescarch  Projecls  Agenc Network,
ARPANET Fmn ¥0mmda IR

T ks AR TEdE afeww feem ol
AR SR wWaEn e el Ryl
wirerprre afelin o U RS
w8 RRETET W wWmerEh e
waE o fEeE e frgfenmom = g
Frenrda Trgs s fim ) faw @ AW
i wilt =i o @ seem W 1
ez Wim fafey clenmefa wa #
St BffwraEm (Topap: mi

Control Protocol! Internet al

E3rm Wit EAWET B 3hbta
Hiow  wmEeiED i el E ]
TR T | TuEe 4l
Lot i

15, svatem Interface (SCSI) is

k) Seuzzy

c) SCSl d) None ans. B
M. was a  chess-plaving computer

develaped by TBM.

a) Bright Red b) Deep Blue

¢) Light Gireen d) Dark Pink  ans. B
17, Which is mot a programming language in

below?

a) Perl b) Cobra

c) Joule d) Tesln ans, D
15, How many bits are there in Unicode?

a8 b) 12

c) 16 d) 20 aris. C
S 2wy AM Apple Computer Corporation £%%

Nerox Corporation % w 2= oliwsi
Bfran S wmw Fow o W won
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M

wmice eIy cervEs TR ww Pifcen
s T BifreTs yre 3 WD W s fade
CETE 1 A% (I0ER TWITE Le00n W 3T B
wfln o FER =0 o v @ e
MG (HTESS WM W b G werfly fm
(o= wufm, oefrmm, were Bl o
o ww e forre Tuel Tees =W
THEE WA | SEEE L% @ET g5 oF
e | e weie emee A
wwitan | wdie Tefwewen avw a0l o
i aeefl e

1%, When  was  [irst n@ sattelite

estnblished?

a) 1940

¢) 1950 ;@‘ ans. Nole

apdq WO B 3R e

=fm m@ﬂwmﬁmaﬁ

"ﬂ!:iamfmwﬁﬁnﬂ
X __ pigabytes in the decimal

b) 720

c) 1,950 dy 1.970 ans. A
s | Kilo Byie (KB} = 2" {Byte) 0 1,024 Byte,
| Mega Byte (MB) = 2™ {Byte) 3 1,024 Kilo Byice.
| Gign Byte (GB) = 2% (By1c) ¥ 1,024 Mega Byte.
| Tern Byte (TB) = 2* (Byte) @ 1,024 Giga Byte.
| Peta Byte (PB) = 2% (Byte) # 1,024 Tera Byte.
| Exa Byte (EB) = 2" (Byic) M 1,024 Pein Byte.
| Zetta Byte (ZB) = 2 (Byte) 3 1,024 Exa Byte.
| Yot Byte (YB) = 2" (Byte) 9 1,024 Zeta
Hyte.
| Bronot Hyte (BB) = 2% (Byte) 3 1,024 Yot
Byl
| Geop Byte = 2" (Byie) 1 1,024 Bronot Byte.
Whe s the president of the National
Asspmbly of Bangladesh?
a) Speaker b) Prime Minister
¢) Most senior MIP d) Chielf Whip ans. A
Fimm wrdin s wuvtE @ gem FEE
fefa = snigad® st = oo
wfEe 7 TR wAmETE e e rivie
g« &a | emm edm Aew AW
wjete] AW S T |
The *First Cvber City® of Bangladesh is

21,

2.

?Ch.ilmgnng b) Sylhet
c) Rajshahi d} Khulnn ans. B
5 & win wsis Fon B sefiees BRESm e



G oFH B ST Meneie 4% Soem
Fromi® swm o w42 v BB T
Wifi e «fiee Tom

Which country is bordercd by both the
Adlantic and Indian Ocean?

a) Japan b Iniin

¢) South Africa dy China ans. C
ey e wilen =0 weme afts
WA WIE | £ Wi i Wi, g swe
SEEIR g Wi ety e i
Tumbru Hohinga Caomp of Bangladesh is
lncated in

a) Cox"Bazar b) Rangamaii

¢} Khograchori d) Bandarban  ans. 1
A T EwIefRTe T carfrm wme
wown | 4% R femgs e = fes
During the Liberation War of Bangladesh
the Secretary General of the UN was .
a) Boutros Boutros-Ghali b) U Thont

¢) Kurt Waldheim  d) Dag Hommarskjold

3.

£

24,

25.

TR WETE greE wEw § o1F
vy ferem (e
oTF 93.32.5%93 M
S, P ey

T% 03,33 Yadd 0 oy |

ted cinema projection?

i) Lut Pastor b) Galileo

¢ Temas Alva Bddicsan d) Luis Brail  ams. C
wur werE e shve T wicsfremn s
e mvea wifaw o

Don Bradman is a famous _ cricketer,
a) English b)) West Indian

¢) Scottish d) Australian  ans. I
wrpm fEsin AR EErs  gieuneE
s oo il e w w

‘Black Monday® is related to

a) Environment b) Stock Market

¢) Women's Right ) Termorism  ans. B
hih VITFE 4 WONTEE SS9 Vet AT b

2.

£

27

5z

28,

X:
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A

29,

Jik

.

wrlive o Wl o faenfn wibferm o
form oA R e WEde % R
‘Black Monday" 1)

When was the Constitution of Bangladesh
adopted in the National Parliament of
Bangladesh?

#) 2 October 1971 b) 16 December 1972
¢) 4 Movermber 1972 d) 4 Januasy 1973 ans. C
R ynay AR 8 woswE AT irs T
wR Wi T ahq AR o fere o
% efawms Tre e e o8 W

TRIPS agrecment is prepa

a) Potent rml:

¢} Climate d% ans. A
TRIPS Twon | aft T ‘The
A nt on ¢ Relaied Aspects of

Imte

| Pgoperty Rights’. off e =g
i

Part Two

Translate into English: 1]

5 ¥ wers fogers ewsfere win werein
W wferda o = BofE T 6w
W TN | AT e ewed
Brave | o weafE wweyfeR S R
wiEte | wemmet Sfrnonvei wfE, Fe
=i Fafie o worens GEhetm mwfas
Sfewa® Glam TWTR W WAOE SOOI |
wai o wEE e AfEr wimen
feafmmemeonre =8 s s o €
W R PN emRAED ew W
ol UM | WO SWINDY, e,
gienm-Aebenme  Hufmwm e weremen
e Fouv F o |

There had been o unthinkable change and
success in the information and technology
sector all over the world in last two decades.
Information technology has conguered the
time and distance, Bangladesh has also woken
up in the spur of mformation technology.
Recently mentionoble outgrowth hos been



2.

occurmed  in the  field of  information
technology. Several public and private works
such as  telecommunication, agriculture,
education, healih, export-import are  being
operated  under automated  digital - system.
Automation has already been started in the
chittagong sea porl. Share market and
banking activies are taken place in the
online.  Collection  and  submission
application for the university admission fests
are available on websites whereas test’s
results are also found in websites, As a resull,
emplovment opportunities for many people
have heen created for the posts of operilor,
programmer, hardwoare-software engincer.

Translate into Bangla; 1]

The outbreak of coropavirus in China has
cised great concerns  around  the  world
imcluding in Bangladesh. As the Wuhon virus
coses hove been detected i places as for as
Australin and the US, those living in |
neighborhood have reasons 1o be
concerned, given the frequent air
increase chances of spreadi
pathogens. A lot of Bangl
businessmen, travel to Chi
nationals visil
So it 15 esseng

s, Bspecially
the Chinese

# with this issue with
should  be  proper

1% People need 1o be advised (o
alent about speead of coronavirus the
way some other countrics arc facing it so far.,

B = SR aEe femeeE BT
ffeg o S At smn wohfm e
wikfeen ww el geeeme <% SEW
saw Befafe wewm sfewd o
wfyeen By = S0 wWe e @ s
Fmad e 9% Remwes Sy Ao
SrTEE §fs Ts | S meeen Bem sm
mir PR Ewe e gm wew Biom
weifrme sfEhoe o =539 =@ O g
sy o el ofe 9 o SR g
fmm 7w & =T Y TEUReTT Tdme
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ol

M

oA wTRTE W | EENATE wTEm =R
fmmr 7 =w G e e
CHTSTTT 008 ) W0 B

Equuation

/58

puuyouu

U

s TS WEEE WITUTWAY N RCANE
whifEn 97w 8¢,000 BT FTONT THON 49
Frers o oo, stoers w0 s don fo )
o ¢ == s P o oo =R AT
ey ¢ B B 9 om ) s e

] O TE \

oA, WA A
Btaa
AW, ¢ T A wfE=e o R
Bgooo
X~ *
oo Bdooo
LT ST T
ooox - Btooo(r - ¢)
ax-2)
B2 oooy - B¢ coor + 3,348,000 = ¥ex(y - ¢)
3ens
)

=M

x-a)=

= 3} 000

f-fr-btoon=0

X' - 330y + d3ox - 30,000 =0
x(x - 332) + 3elx - 33g) =0
(-3} (x+d3wo)=0

G, (v 4 d30) =0

X = - yao T IAHN 7 |
-yt =o

Lo k=g

Saan ARH A dae W

fnterest

5

A W o TEA TE-NE 4400 B

le.mgﬂﬂm.m‘ﬂm
ww o e

7 WP el W = b B e



R b
HHTW = b 43 = 33 T
wdie M 35 T TN WM = b T

b o 3
AT ¢, 200 DR TN WO = ———

)
8,000 DI

ufa, Jo WA -

GHF U HE, WA p = 8,000 UL W v =
& T 49 I | = @00 - 8,000 = b,¢0a RN

e
e wlE, | 100

B =

foon ¥ F xS

= Jboo= 300
Moo ¥ oo
F= jocoxe Lt
Ton e O 0%

@5, Basic Compuier:

a) Name and draw different tvpe of network
topologies.

§: WS ey s R dﬁ\
T[T =0 W Star Network, Ring Nrﬁ.
Bus Metwork, Tree Metwork, Mt
& Hybrid Network. 6

» o
TG
e
Ring Network

Troe MNetwork

Mlesh Metwork

LN T
= im

s Metwork
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by Write functions of the CPU in shart,

§: The CPU is the “brain” of the computer. It
does the “thinking™ for our hardware and
software, The reason it is called a computer is
because it does just thot, it compines, The
CPLU s where the processing is done, henee it
is called the Central Processing Unit. If we
have ever looked a1 our task manager on a
Windows muaching, you can see  what
applications toke up the most of our CPU's
time and atention, Multi-core processors can

divide their attention to vagous requests so
applications and hardwaire r&;ﬁmlh:t

To be more specific, a i progrm

instructions from 1, interprets and
processes it (excqtiony and then sends back
the cqgpuied res so thoi the relevant

COm ts egn carry out the instruchions,
tahase? What are the wses of
in office administration?

(nbase s an organized collection of
structured  information, or data, typically
stored electronically in & computer system, A
dambase is usually controlled by a dambase
management system (DBMS), Together, the
datn  and the DBMS, along with the
applications that are associated with them, are
referred to as o datnbase system, often
shorened 1o just database,

Database Appheation in the Workplace

Some jobs rely on database applications to
run their entire business, Some examples of
dainbuse  applicotions  for the workplace

include:
#  Flight reservation systems
F HRemil or parts  mventory  (usually

functions with barcode scanning)

#  Computerized library systems

These are obvious examples of where a
datnbase 5 pecessary (o store and orgonize
information. What you may not realize 1s that
there  are  inereasingly  online  datnbase
applications beng used in todny's office
workplaces to help make the sharing of
information as efMicient as possible.

Databases are wsed to structurally organize



5:

and capture larpe quantitics of daa by
inputting, staring. retrieving and managing
information. A database application is the
program responsible for retrieving and storing
this date. Offices generlly function on a | €)
databpse monagement system, wiich provides

an interfuce between the user and the database | 8

and also catalogue dats, Some of the more
popular  dotnbase  manogement  systems
include Oracle, MySQL and  Microsoft
Access, Since there are o variety of DEMS s
available o choose from, cach office may
function using different soflwire, for this
reason, DEMS software will often come up
with an open database connectivity driver,
which allows different dotabase systems 1o | f)
interaei and share informaiion, Some jobs rely
on dotabase applications to run their entire
business. Somc  cxamples and  databose
applications for the workplace include. )
Flight reservation systems. i) Retail or pan
inventory (Usually functions  with 4&
scanning). i) Computerized Lib S:%
Explain the terms: () CAD AL
Cookies and Trojan horse,

f) CAD: The ascronym of s COMmpLter-
aided design. 1t is o kind ol Soltware which
productivity of the

MTUNICAHIoNS through
n and to ereate a datnbase for
cturing. It is also used o create 20
and 31 models and designs,

i) CAL: The seronym of CAL is client nccess
license. It is a commercial software license
that allows clients 1o use server software
services. A CAL 15 not o soltware product,
rather, it i a license that gives a user the right
1o aecess the services of the server.

i) A cookie is o plan text file thot is stored
on computer in a cookic folder and it stores
datn aboul browsing session. Cookies ane
used by mony websites 1o tmck  visitor
information. It is used by many websites o
track visitor information. It i= used by hackers
and companies 1w know all personal details. A

Test Magie Publicarion kL

Trojun horse is not o virus. 1 is a destructive
program that looks as a genuine application,
Unlike viruses, it does not replicate itself bt
it can be jusi ns destruciive.
‘hitps:/www.bb.org.bd’ discuss dilferent
parts of this web address,

ltips stands for Hypertest Transler Protocoel
Secure. It 15 a protocol where encrypled
HTTP data s transferred over o secured
connection.

WWW stands for World Wide Web, It is a

network of online content thgt 15 formatied in
HTML and accessed via |
bt is the Web name .o e in name.

and b is the cou 3
Let vour :nmpn@mnulcﬂ to internet
through Ethernel. Wi seme point, you have
fou i "U" is no iniernei available in
&a puter. How will voo jdentify
¢ problem oceurs?
ur computer is connected o intemet
through Ethemnet we can find problems from
network and sharing options. We can also
check it from the troubleshom problem.
Besides, it can be found in adoptor settings.




Bangladesh Bank
Reeruftment Test for OfMeer (General) = 2019
Total Marks: 10K Time: 60 Minutes; Examinotion Held On: 27,12.20019

1. Fnegfes’ oo T aen o ey Fof

L]

u) fag=mm b) s

¢) fammfarremme d) fasm ans. B
$: TS W TOW W AP @ S TF W IS

S Bies arEm T | S wee s (i)

sram o Frgae = s aws

=) farerr b oo + e = tawfas, W

+ firs = s

04, “wfroeE” wwita sfire Swmm won

o) ST g b) =itz

) TR )y =i ans, D
03, Fse o St cmEm

a) e s A b oftee, iem

¢) 52, wemm d) #fed, Hee ans. B

S: o0 SriNE we=a b) & S wm 1ews
aFu gl Fame =R e
BeEIE oY o e “afEa

w) w7 crE ueds nfee + fee = wfefers, ki
o + e = Tafe, famaw 4 e = Do | TR o (Jrnd).
) Fore wnds o + e = gl s 4 m,:‘_':;::_:m
fire = sifEs, % + s = ofim, of + s T (3833,
= wififs, 7an + fnw = wrafies, el + fns = frgm T (393
Fraifors |

b) *igary

02, “wererr @yl SR 0 Te o \
o fod

a) e o b) e
) WA W d) ans. B

STl TEE W, TS, (rade, wEva,
i |
03, WA 0% OFF TTEIER AT s | e

o ~wi e o Frefs oon
1) TR A b wfeme weedi
¢) WA = dwd s ans. C

§: m o oy fapre, e, wre, fae, e,
wige ¢ ofee W g T owd oF S
TTAY T IS TR | e s fafeg
frufs wye wire, we, cue, fn, fm B
] wFEE T S R w g
ww frsfe Beed wom: GH-SPT e
SIS =

Test Magie Publicarion

o) TRy

§: Wi Ipwneam afte TedeeTn e WA
i & AT e (dwec), aitvfEnfe (dnes),
fufe o b =fef (ynor), 78 (Snon), A
(ya8a), FEET THE (n8a) TEnE o B,
wedl Wil e weoen e ¥R geine e

PIE |
07, ‘efefes’ vty ud

a) T by ¥

c) coeTES oy wies s, A
5: ‘gt wwe =fwm e

=WrEE EeEE (afEfre s

FHTRATE THTE-H) |
08, s o oo o e wirers Wi G
n)5. 4% by®, =, %
c)E = di®. G5 ans. D

S aom, w8 a8 vl ard emfes wfa Swwerw
¥y oun v weesd o wwre enfi ) ek
qutAE I o wigwe w® o3 el @
i oad = | wisere ges 520 (9
e g) | are W, E BemfR ) wm Swrey
gl s wfermre awwR G T
P AR () e SEE (T) |



09. T.S. Eliot &% *The journey of the Magl® | §: WF o) g8 “vg, sl om sufrs amm
afrere wivg argEys weie 3 wom R o A O T, e
a) 7T b) Frefrd 15. “Ifges s care oy e T ww Fe
cjﬁtﬂ d]ﬂﬂﬂcﬂ‘m ans. B “h'wm“w
§: TS, Eliot @3 =iaem aom wwapre a3y 4) T b) wibw
Iz | fp o7 yneo R affule wfe ¢) ciifrs d) fimy ans. A
= | e we ol wfeem am o we §: o o a=f W = (T av o W
e W I | it famn (Fom) o e, e T wm
10, Tr;m;tn!c |:u;: Bangla: ‘Please stop being (TR TEE T WO ST e S
so judgmental’. At wey Foa | e e 5 gy ss
) ;ﬁﬂmmmﬂwmﬁn P polog- g
b) v e ceto felin Grere e we | mﬁﬂﬂm mlmm
¢) ﬁrﬁhuﬁmmmﬂmwm - Ll
d) s fowdven #fe o ofm | 0TI TR 7
W | ans. B dfect  ans.C
&: Stop doing fMbricated judgment ud e o | ¥ wre preR 3R, fefim
wa e TR T e oo e wee Frefrer wf, @t Tom R,
Mease be careful about the injustice =9 %o =f%" farnst farenofire = =
warde wfew om W ow o fomm @ — I9: Fill in the gops with appropriaie
W | Plense come out of the cpli words:
injustice =4 o wawrde 17, Could you ____ me that file on your desk,
(e iy =g F‘ﬂuw; b
aj)ex past
1. mjﬂ‘:‘wﬁ A ) catch dy hand ans. D
ST ans. B S: @9F, Hand =% Verb fiom a@ws s
g T = wm Wi o W W Ore g
§: o s Will you hand me that book
12. foi please? He handed his fither down the stairs.
b) st TR W TR 5 e N 5w oaw
c) d) fererres ans. A =y
§: o wfers wma = Bhars’ wm e FER | 1y Foyor's is a restaurant __ where the
Terean | W Befars’ wd g wrwE’ | b French Senators cat.
S M TE0TE e BeeE weMEEE EEE a) 1o ET
"iiWE AN = oY T i wevw W Eve ¢} in d) by ans. B
Ty AR e o orws = fmeTeEs | S A Preposition B R am o won o @
o el TR HR | o | AWYls a’ «n iRy wrgw fas v
13, =l e Bamm wefie «fis @l Fag ) 01 He will come at § P.M,
1) e h) yErEE i) ¥ The chair hos been priced ar four
) 7 d) fawit ans. D hundred tuka.
14 mm“m A IO {7 =S The cor ran at 120 I‘I"I”L‘-ﬁ-l'h:fhl.'ll.l-r.
o) ¥a, T b) %1, WS iv) s ar’ BRe weme e’ wd e W
¢) wfier, v d) Benfs, B ans. A @t The dog ran at the new-comer. The dog
barked at me.
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v) firgs Do it at your own cost. He did it at
his own risk.

A wd are FEbane e afod 1m
Ir ciparettes were banmed, lfe
healihicr.

a) will be k) would became

¢} should become d) become ans. B
a¥t7 #98 Conditionnl T8 I+ Post
Indefinite LA*® Would + verb 4¥ Present
form a1

e wdy et s =0 o & W
T B

The pocm *Visions of the Pasi® is written
h "

nilmﬂ Byron

b) Michae]l Madhusudan Dutt

¢) Willam Blacke

d) Rabindranath Tagore ans. B
o Ffwem FHeen @ A TR e
T S W 4 T 4T S
< iz ™ s 9=l ) R
o EEmr woe- =i, el
wmrEEE, oW weEe | e W

TOTeR WS WM TN WAy

oo, Faws ) B TH ive
lndy, Visions of the past.

The synonym of *vigilant® Is

a) heedless pscillane

¢} villminogg y observant @S, I
faws wee w7 W
bR | Oscillate —
| Villainous — 5frafes: =+

A sarcastic person Is someone who s

a) dependent on others

b} n very strict person

€) & saviour

d) ironical nnd bitter ans. I
Sarcastic person Wl &% e Gifem A
w fuff o o e | w8 T S ).
&R, =0 o) 9% Dependent on others =6 W
frréaritn fecs om0 | WM b) 48 A very strict
person wd arm e B ofecs A | W o
&% A saviour =¥ STerE e am)

The incorrectly spelt word is

i) pensant b} piteous
c) pilgrimage d) pesimissiic ans. D

19,

5z

i

21,

5:

22

5

3.

Test Magie Publication
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5:

M

5:

¥

5:

26

27,

Peasant — W1 o =08 499 578 | Piteous —
=R TR Pilgrimage S
Pessimistic — T2 ER; Yo

“Onir teacher told us off for being late'. The
underline phrase is closest to

a) expelled us b) detained us

) scolded us dh punished us ans, C
Tell somebody off for something ¥ To do
something &7 «f5 =d gvem gvws w0 6
arerares o o wel wd o whE
;v e fEme w ) @A The teacher

told the student off for N S0 many

careless mistnkes, =M = Scold.

feu, Expel =y H i

Detain =9 wa Punish = =fa

g il

e Nt ot = e wmoR w6
.

¢ best translation: 057 Fawem
3 forem wrs om |
He heard a shnll ery in the stll of night.

b) He experienced a bad cry at the dark of
night

¢} He histened a harsh ery in a calm mighi.

d) He was stunned by hearing hue cry ina

black night, ans. A
9T Sl of night ud given Fawsm o wWw
Shrill ery =d 37 o
IT Roots : Root, then
n) Greens : Green b)) Moods : Mood
¢} Goods : Good d) Bool : Bools ans, A
Root - JW1#2 9; =% 1 Green - 799 | Good
- B0 FIRFT 1| Mood -~ THIHS STEL CORTH |
Roots Wl «& waree Sfgers gam @@ =
Root frmf wfE® | %7 Greens W a9
e FAT W Y Green il wiges
Chonge into passive: The trainer walked

the horse alter the race
a) The horse was walked after the race by

the trainer.
b) After the race, the horse walked by the
trainer,
¢} The trainer walked the horse by the mee,
di The horse was walked the wmiper affter

the race, ans. A



5 Active voice 4 Past Indefinite Tense 4

Subject + Verb Past + Object 999" Passive

voice @ Subject + was’ were + Vierb 402 Past

Participle 50 |

I wh ofrss o efsouiren wowsg

aafen

Change the form of speech: He said (o me,

*Which job do yvou want"?

a)  He asked me which job | had wanted.

b He told me which job | wanied.

¢} He inquired about me which job 1 was
wanicd

d)  He asked me which job | wanted. ans. D

Direct specch & Present  Indefinite Tense

W Indircet =0 B Past Indefinite Tense

¥ W® Reporied speech ¥ what, when,

which, how, why, who, whom, whoever,

whosever, why ever, wherever Fer wrm o

=0 wrE® Indirect speech 4 et SefRafds

o |

AT wdy o wTaie e e, e

=i T T

Find the incorrect senfence:

2.

29,

B)  We must fight the enc
¢} You should apologize
d) 1 study hardly. ans. Note

o fea T
=W Complaint T2

A Transform the sentence without changing

the meaning: Beena is a meritorious girl.
a) Beena is a girl who had merit

b) Beena is a girl who has her merit,

¢} Beena s not a foolish girl.

d) Wit o meritorious girl Beenn was! ans. C
foy fox 7 e W fowwm e, ==,
S Ten e =w W of .
FF AN (R W FEE AR O
= v e = @ =Rt o owd @m
fwldre = won W oifere T e sfTETe )
omEE Man is mortal 0TS WE aEwR
Megative =0 51 Man s not mortal. =T
wrflics GRTEE Negative 008 WA 0F 42
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5:

a)  This is my complain uguimt*@
istakes,

42

wd wefEnfd= wws ) omeRr Man is oot
Immortal, S92 Fme Sweedemm H

AT e hiowsa| W [ Flieasml
| Regaii [T Umwr Hich Duspheasst_|
T P e Ihiy || P g sl Beimul
| gl 4 i L rsapyry [inmammnatls Hiake
AR T T ST R R |
A1, The idiom *Let things slide® means
a) 1o be criticizing b)) 1o be indifferem
¢) not 1o hielp anyone d) to set free ans. B

5 Let things slide = Wil = W=, e =3
@ s T To be indifferent. 9 To be
eriticizing =9 FRICMGTIE §8W 1 To set free
wd IF T AW LW | Not 1 Ipunjmneﬂ‘f
S A A |

F2. The antonym of 5 is
1) destruction survival
¢} stopqation d) elaborntion  ans, B

§: Exn - 1 0T 1 Diestruction — W

ival - =TEE =Y | Sugnation —
%em | Elaboration - feefe

n o is an even integer, which of the
Iullq-wlng must be an odd integer?

)y -n bin+2

¢ in-1 d) 3’ ang. C
e T T @, p U o=l s Aom o,
TTEL SR (T weE Fares wAr

5:

Shorteut: CIUEE, n 50N even ¥4 (W1 48 wes oy

T8 Back Solve &3 SR 59 W2 )
g, SR n = 2 TR ME,

Ciption n = gven (CITE) Remark
= 2 5

aymr—-n| 22-2=4-2 Even (007F),
=2 =g

Mn+2 2+2=4 Even (087},
EIE AH

c)3n-1 Ged-1 Odd (werg),

=f-1=35 =% o 5=

oy 30" 3x2=3x8 Even ((9T§),
=24 =g AN

F4. How many integers from 1 o 1000 are
divisilile by 30 but not by 167

) 28 b} 31

c) 32 d) 38 ans, A
0% W A, | o 1,000 g2 W aww el
=+ = =, W 30 Frow e = um,
16 Fiem = s am =

5:
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d6.

I

5

werl wftm | aft W@, Swep by Step o =
HHINTA T |

| e | 000 =i = wesn = | 000 B
% 1000 B s = 30 o s e
e e =10 = 33 B

av@, g8 33 B Wogm g curm wpeERS &
AENERE (7 T WA, s |6 Fom e
FM WA

% v wey =R 30 92 16 91 wMLe, G
e+ 4 How )

ww 4% 4 T Aemes 30 g9t 16 551 R fm
Evl W A | W1E | s 1,000 9 5o 30
= == wm, e 16 Fon w i e o | awm
e WA = 30 v =W 2 Tm gws e - 30
wae |6 Tow A fw = o T a9 e =
I-4=20M

Bus fares were recently increased from
Taka 1L.70 to Taks 2.00. What was the
approximate pereentage of increase?

a) 18% b) 15%

c) 0. 15% d) 0.18%
e e wres, seefE T w170

omE 2.00 T owe g T oS
TG
mw=:.ml—|.‘m=n..‘®

o = 18%

wmbers below §s  not

20
b}ﬁ
c) L5 dy 0.2 ans. C
T A WO, 105 47 FAE T e
0 |
W% =1pp=5=02
S ) OB WO 0,5 = = 50%

What is the HLCF. of the numbers 36, 54
and 907

a) b by o

c) 12 dy 18 ans. Iy
#ioe W o, TECE (T TS Wera fAmw 36,
34, 00 &3 BI% T T

H.C.F %1 =0 Highest Common Factor =¥
"0,
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A by 48 O @ ) 49 |8 Fom T e 18
% TN ALG, 5 18,

Repeat: Pubali Bank Lid (50) 310352013 &

(uestion no 46,

A8 I x is an integer and p = - 2x - 8, what is

the Teast value of x for which y is less than
a7

u) -9 b)-8§

c}-7 dy -6 ans. B
20w weE, Wy <l w9 W w gE
- 2x - 8 W, T4 x 47 78 g T A Least
value (R 89 WM B p L7 TW O 42 6T =W
oy

O, B o, -9 <

-B<-T<=p,

A of vl # x 4 W GRG0 g
NI LT , (DTS (7R s g

R, =0 y=(-Nu(-8)-F=16-1§
= § 71 9 42 (500 (ul, 18 Wor b) BEm wA
O WTH WA o) O — 6 I W ) O -
7 firm oW T W, WA - 6 gAr - 7 BEEE -
8 SOTe =5 | A Al SEm wA h),

Repeor: Rupall Bank Lid. fOfficer) 08112009 &

COluestion e 35 Sobne Recriitment Test for §
Bands (Offfcer) 2007 2008 & Owestion o
35 Sonall Bank Lud (SO 01062018 &
Chestinon no: 34,

39, Wa+h=3, whatis '+ 7
a) 24 by 7
S EL dy 18 ang. D
|
5: ﬁﬂmg'+fr=[:n-ﬂ—3rﬂx£
(1|1£l=|:3]|‘—]x3~2?—9=- 18.
40, 10 sech + tan( = x, then tand {s
P | -
#) = b P
c}fl*tl dl.‘l‘lvll ans. D
§: w6, sec’0 - tan'0 = |
= (sech + tand) (secl — tan@) = |



= y{sech — unb) =1
= secl —fanl == ... (1)

O T, secO + anb = v ... [/}
(1) e w0 () we il Ronm o R,

secl) + tank) = x

secl) - nf = j:'
'mnunx—{ ::1umﬂ=";1
1 . =l |
— tﬂrﬂ - 1: Pt IBI'IG - ll'
Repeat:  Rupall  Benk  Lid (Officer-Caslt)

0903 2008 & Cheesstion o 47,

If the length of a rectangle is inercased by
20% and width is decreased by 20%, what
is the change in area of the rectangle?

41,

43 Al possible  three dight numbers are
formed by 1, 3, 5, IT one number is chosen
randomly, the probability that it would bhe
divisihle by 5 is

a)

c}% ans. C
mﬂWmt,}m:ﬁmmmdﬁl
s e O3 Hen Rema sIW A
wnfe 5w e Leww e wEy

I, 3 w3y 5 a2 feald ey wm 3 = 6 B

STEaTl T W |
R ae

HE, (0 e 5 O
FEAT 5w ﬁa@ == h 3
r il Hecridiient Test for 5 Banks

AT 2 = 2 B

a) unchanged b} decreased by 4%
L sl b by iﬁ' B (1.00g 2018 & Question no 47.
iiles of o trinngle are x + 1, v —
§: ave T o, @3 Recungle 42 0l s
v+ 1 respectively and the perimeter
wh 20% T N V- 20% W, WA ING & " i, The length of the smallest side is
et effect == 597 a) Sem b) 3em
B, Rectaigle BYOPE ey = H'HII' @ c) dem d) Tem ans, A
20% TR T w1 = 100 + 100 = 5: =rn = uwm o, o= Grgren feafh wme ond
™ N o+ |, 2x - | Om 3p + |, fmeia
ST, 20% S0 B0l - @ - “ffa i 25em T THEN Twa Wd w2
120 - 24 =96 anzs, foemm «fefin o Geoe fe @
brfl @8 Nete 06 = 4% WA | ik | =eE,
K V- -
Rfmf Ry, L. (SO) 11062010 & #k b Te— ¥ dxk L =25
: Bungladesh Bank (Officer- | = fr+1=25
WA 2008 & Cruestian mo: 35, = A ifﬁ -} =24
42, TheSm of first 17 terms of the series 5,9, | = .'r-"'ﬁ-'--#
059 " s o4 33 AT =+ 1 =4+ | = Sem,
€) 629 d) 523 ans. C WARTE =20 1=2x4—|=8-1=Tcm.
S: o o 5, 9, 13,17 4% WA W LRSI YA =g+ | =3I d+ | =]2+]
7% v crren e = 13em.
llm'lfhi'm“ﬂ=1-? e S (T I8 Sem W WP g) 0 W |
L 48 . Repear: Agrawi Bank Lt (fficer-Cashi)
MRS R o =0 — § = 4 = AT = |7 )
il n ‘ =1 15.02.2017 & Question no: 535,
SR 17 10RO T =5 (2 + (-~ 1) 45. 1x:ym5 13, then (8- 5): (B + ) =2
- n)5: by 63
_T"hﬁ“m_lm )5: ﬁ d)3:8 ans. A
=”I]U+I’Iﬁx4}| S oMA. xiy=5:3 =y=54y=3

SR, (Br=-5) i (Bx+S5y)= (B 5-5x3): (8

2
17
-2
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Repeat: Sonall Bank Lid (860 00062008 &
Cheestion no: 36; Rupall Bank Lid (50)
2FAW2003 & Cheestion ma; 31,

The difference in Takn between simple amd
compound interest at 5% annually on a
sum ol The 5,000 after 2 vears is

46,

) 12.5 b) 25 0.
€) 50 d) 500 ans. A
5. =% T O 4, 5% TR WA 5000 TEm 2
TG T § G AR W e
5% WE AW 5,000 T 2 TEER M
S000 = 5 x 2 s
== 500 B §:
L -
v = [ﬂlﬂl{l qﬁ) ,:-nm:|=
|:5[H'.II}(I +ﬁ) - mmJ - [mm ;T]]J . mnu]
S000 = 441
= (MR s000) = 5,512.5 - 5,000 ‘
=512.50m=
WELW, T @ FAOTE M = 5128 5
Log 36 _
7 Logs \I\
4) 5 b) & 8:
wns. I
2 5
5} then the number of
ans, C
S o AW o, A= {1,2,3,4,5 oty | -
i 52
ATFE BT oo v o w20 ).
L e TR i L i e L]
L ARl A =2 - =321 =310
% P oand Q) are brothers. R and S are sisters.
The father of I is brother of 5, Q is reloted §:
1o K oas
i) son ) brother
C) uncle d) numt ans., [
S o T TE P oA Q R B R St S
R A PR ME S mEt M QeR
a7 ok famy
Test Magic Publicarion 45

wpie =B awm o w2 =hE wm we
e | ey wem o e = b e 0w o
MEERA I ANMAP S QTR W8 I R g SR
A | CES P 6 Q «f %41 R 4%t S a2 &8 )
8 R Q% Aunl

Every 3 minutes, 4 litres of water are
poured intoe a LO0O litre tank. After 2

howrs, what percent of the tank will he
full?

a) 0.4% b) 4%
¢) 8% d)y 12% ans. C
afe 1 RS wun 4 Wom 1 2,000 Por v

mrag B o =3 = |60 R

| ]
mwmﬂn=%=ﬂ%

¢ next number in the sequence 3, 6, 11,
[, My Fp—

1) 34 b) 36

c) 38 dj 40 ans. C

o I o, 3,060, 10, I8, 27 e T

wEad] T ey

TR ey 5wt fRrny 2 o,

6-3=% I1l-6=35; I8-11 =T
27-18=%,

wifiR ZNW WIW Y EEETEe e Odd
number CEI¥] SA0R WTE HETTG fem T

9 o Ould 11.

vl s = 27 + 11 =38,

The average of six numbers is 14, The
average of four of these nuwmbers Is 15 The
average of the remaining two numbers is
a4 by &

c) 12 dj 16 ans, C
e 2w, 6 T Avame oy 14, v T 4 B
Aoy E 15 wm w wihe g wEr

6 0 sty 2mfl = 6 = 14 = 84

w4 B ammm R =4« 15=60

i fon Wl = 84 - 60 =24

o

EE |
=219
7 12



53, W2lx =1 >=3, then F7. The bank note of Bangladesh which has the
1jxy<-2 bjx>-2 Impression of Central Shaheed Minar is
cjr=-| djx=-1 ans, I a) Tk, 2 note b) Tk. 10 note

§r o WHRE W 2 - 1 > -3 ¢) Tk. 20 note dj T 50 note  ans. A

= =]l >3+ 5: 3 B e @B w, A weeft o wm

= 2r>-2 W A e B e W o) o cors

= Za22 [TEu TS 2 W 6 il

" ‘1 38, Before nationalization is 1972, the former

e K-

Nors s S et st e o e, | Dot P et Bk L v
o, =19 =E weEveE o s m e b) Habib Bank Lid.

$4. M xy = 2 and xp* = 16, what is the value of ¢) National Bank of Pakistan
X7 d) United Bank Lrd. ans. D
a)4 b)2 §: wwel wes Wik ool w8
,_.],41 & 8 ane. sifersTeita | MR

3 i el gwsw | R =

S: o, = LI & T w.afEwm o
ynwl ca ffide’ fFon e wfen | snad
&, gy =2 WeW W 3b-47 WeE

i W 4N o0 AR d¢ S

T =me= fofs wiimies o |
‘II |\ —————
¢ 4 \J The proposed ‘Exclusive Tourist Zone® will

35 There are 10 truoe-false questiogs @ e ap bench.
cxamination. These  guestio can a) Inani b) Sabrong
answered in ¢) Laboni d) Kuabauta ans. B
a) 20 ways bilf@ §: =ymwEm Geee SeTwem FEEm g
€) 2" ways &) 1024 ans.C& D ol ween teft T wE ) G enllw Feoem

Y "I‘?f'!’l‘l soft wer-fiun af.ﬁ ﬁmﬁ qﬂm T ATETE ﬁ-m'

| TEER T oW Seroen eare ‘awgbre Gftem o e
e =0 ue ) e Bfeer ol ewfen we
FE-fawn = e 2 T Wit sem com, =0w, v 5w euwln
fon, msrwon fifls onftw wfan amma
GBS 3B ~2x2x2x2x2x2%2%2 | g e founder of the BRAC Sir Fazle Hasan
2w 2w 2w 1,024 TeTCH OTH CTTE AT | Abed was recenily awarded the highly

56, The perimeter of o clrele measures 16, prestigious . ) )
what is the area of the circle in sg.cm? a) St. Andrews Prize b) Yidan Prize
1) 343 b) b4 c) Oknyama Award ) Raif Badawi Award
¢) 256% d) 128= ans. B ans. B

S o W wm, gul goE o |6nem T | S Yidan w0 Frerems sl s amwe
qrse e wy TEHHE | 103n M Temetn wwed S
2, 7082 A r e R W AR WA T W e 30 ornd
&7 O = ot A% TR R W
AT, 2nr = |6m 6f. “Sohrai® is the festival of the ethnic

6 community named
res=3% a) Giaro b) Chakma
OBV = 17 e = 1t % (BF en = 64t onr® ¢} Suntal d) Tanchangyva ans. C
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2. The Parkl beach of Bangladesh is located at

5: s»ay TR W yfeureR wNm wemmiCem

1) Mangla b) Cox’s Barar fredng, Frevane aFoe wdAIE GO OPY B A
¢} Patuakhali d) Chatogram ans., D i =wivrs Teditfe & we.wfE o
S o gE e Bl T (0w ao e i, T4 R (A0S GHE AT W SO
wiwte ST ¥ wAge yo e o U MOE YT st s gsfl
Y P | COIAE HTE T 0 |
6. Sumerian civillzation Is a part of ___ | 67, Who led the Gambian delegation at the
civilization. ICY in hearing the case of senocide apnins
i) Mesopotamian b) Mayan Myanmar?
¢) Akkadian d) Hebrew ans. A a) Habib Drammeh
5 wium Tewew TR s ESwfl (wewds b} Amadou Sannch
W & cFare) whr vl S oo ol ¢) Adama Barrow
HETEW oMFITE WD | wfen afnme wifeoni d} Abubacarr Marie Tamba ans. D
wg  selt efm curs Bweq wim | 80 P s IC)
TR S 2w o e wE 3wk (International Co Usghe 1 wrEsifes
gl werel @ wad owwdw  weremws e M ST W
TGN FreTer 2B W T =75 a fwre forrs it =g
a4, Hecently expired renowned personality e 'W' o wrera gl i
Rawshan Ara Bochchu was a TFPIRATT N 20 W )
a) Language hero  b) Freedom fighter - Convocation Speaker of the
¢) Woinen activist  d) Politiclon  ans. ersity of Dhaka is
£ shey Wi Afemre v wreeE @ 1) Takaaki Kajita b) Abhijeet Banerjee
ang sfow ghe wme wma ) e ¢) Emperor Nambnto dj Amit Chakma ans. A
eyl wiw frsom Wil §: o feyfEmmne eaew FEd wwid R
TR T r frath wrife wfors T2 o ) 203 iom ol
femefodm ¢ e T ool EN YEERE Y| YEndE =
TN (WU B8 W0 Falivme =% Tee Tee fee P @ = R
ey wwE feem wr=z B e fefi allesie e oW
6%, The natlonal helpline for Violence agalnst
65, i ; Women and Children is
-] is going to be celehrated by a) 102 b) 109
¢) 195 dy 197 ans. C | 70 In the South Asian Games 2019, the
S: 3o3o WM Wy o gfewe wENGT eepTS Bangladeshi Archer who made a hat-trick
TR TorE oio-ay AR e wf by winning three successive gold medals is
f a) Suma Biswas bl Ruman Shana
i B | %033 b el ¢} Sohel Rana d) Bonnan Akter ans. C
e adeedl wive o oF of Smem | chet — e &% fe
= wiiERme shel ol wee EBost g s. g N W
e w8 withe e | wr o T
i G T o GOhE OMS TN W omE
Af, A London-based  group  that ook w0 » FE0wT 2030 100
h it i duri ih ti
GOMMEAREIAR, & ueiRg o LiDkeation 71, The inapgural match of *Bangabandhbu

War of Bangladesh is known as
a)  Operation Omeya

by Operation Searchlight

¢} Operation Cruck Platoon

d) Operation Jackpot ans. A
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BPL T20" is played between Chattogram
Challengers and

a) Sylhet Thunders  b) Rajshahi Royals

¢} Cumilly Warriors  d) Dhaka Platoon ans. A



72, "Bangla Bond" will make debut on the
London Stoek Exchange through

77 The funetion of Excel that tells the number
of numeric entrles In the designated

#) Bangladesh Bank l‘::{l’.ﬁw i 5 COUNT
b) London Stock Exchange ® ) .
¢} Intemational Finance Corporation €) SUM d) CHKNUM ans. B
d) World Bank ans. C | T8 Thij.- prnml-:u n:‘:jmﬂng unwanted part of
; N : an image is call
S: wsa Tw gwwste Hon ¥ A a9 v s) Hiding b) Cropping
HE IE PN WOWOE I R WTR ¢RI ¢) Bordering d) Cutting ans. B
PRI TS AR HED o I0IR e | g e s wofees W R TR s
fafam fem g Ao 3R ww enme Cropping ¥ |
FHHIER WIS [T TR GRER | 70, The space lelt between the margin and the
wE  FyEmE A Internotional  Finance beginning of a paragraph igcalled
C ti IFC) ‘Mem =" (ETSCE | Mo a) Giitter b) Al ent
a:pmm - P . ! ) Merge d pn ans, I
g W Indernational  Finance
: 5 =i cenanfae C, CH, Java
Corporation @2 #vfre = =emreR -l
ot wres fafen afedm o fpme W ik 1)
= a0 arE= Function, loop,
73, The process of erasing a disk §s called condip mﬁquﬁ‘bﬂdﬂmﬂ o =
1) Wiping b) Formatting o e wEw G o
¢} Defragmenting  d) Rebooting ans. B fs «fmm == = =W 3
£ Hord Disk Formatting: *F=8hma e wara | fow T ™ oW O wonR
TEfesl w5 IR TWIET T 9 | \ e e I AmTe IEhhea w0
wW] A SO SETE TEEl A B an wfeacd sl owet e e T
v e yw e el & 80, Moving from one website to another s
fow wey v w0 | TEOND b ¢;1[|;;i 2 b) Unload:
o a) Downloading ploading
2 oo ﬂw AR, - ¢) Browsing di Antaching  @ns. C
T & erws o ' §: <ffedn fafey oom emm sdE W R
74. In general a & scrolibars, A Web page 1 WWW o sams
)3 Web Browsing 20 | Web Browsing 12 fafsg
d) 5 ans. A T ATAEESIAE FOMSOTA WO W T Web
5 w2 = e @ e Browsing 0 o fafes wrm swbeum
TR w1 BN TR/ (6 T 9 PR T | 4% W emE e AwEwTes R
e A0S W W Scrollbar Fr ceen fafeg W TORCADR M MorE eOE AMET
cenatirs oy w1 Bwn wham W | FETORGITE (1 W 60E (RS AEiws
75 The shorteut key to open the OPEN TR I A T ﬂfl‘ﬂﬁ'ﬂ'ﬁl e
dlllﬂg“ﬂ h’ﬂt i“ }Tmm:l h m o= 5."'-"11! Intm: l'JFIﬂrﬂ. MW'““
a) F12 b) Shift F12 Firefox, Metscape Communicstor, Safari,
c) Alt+Fi2 dy Cirll + F12 - anis. D Opera, Google crome 231 |
Downloading: =FEin GHeud SE-mme
E: Curl + FI2 49 998 Document S¥TE T mmmﬁﬁﬂﬂﬁﬂlﬁmw
Shift + F12 <& mm_}n:c#l;munl BAVE #‘ﬂ; ETR B, mét wieitm coerd W
W W Fl O F12 ®T 4% 33 TORGE TwE @ o ey afeEtn w1 fesde
Function Key ITECR | Fare< = | U B W STl W e m
7. By defauli Footers are prinied on En e ol wowd O Gre
a) first page b last page
¢} ull pages d) even pages  ans, C
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